

VARDHMAN MAHAVEER OPEN UNIVERSITY, KOTA

Rawathbhata Road, Kota -324021 (Finance Office)

DETAILED E-TENDER NOTICE

"Annual Rate Contract for Repair & Maintenance work of Sanitary System and Water Supply System of University Campus at VMOU, KOTA"

(NIB No. 17/2024-25)

E tenders are invited from firms/agencies/contractors having registration in "S " Class Contractors (Category S1 as per PWF&AR or equivalent) for Sanitary, Pipe fitting & plumbing work or in appropriate class of Civil work category (Minimum C class as per PWF&AR or equivalent) with any Engg. Govt. Deptt./ Govt. under taking for the work as follows:-

Name of Work	Estimated Cost	Bid Security (Rs.)	Tender Form Fees (Rs.)	Processing Fees (Rs.)	Date of Availability of Tender	Last Date of receiving of Drafts	Eligibility bid Opening Date	Contract Period
Annual Rate contract for Repair & Maintenance work of Sanitary system and water supply system of University campus at VMOU, Kota.	21.11 lacs	42220.00	1000/-	500/-	02/09/2024 1.00 PM to 11/09/2024 up to 5.00 PM	12/09/2024 up to 12:30 PM	12/09/2024 at 02:00 PM	12 Months

The detailed information for "Annual Repair & Maintenance work for sanitary system and water supply system of University campus at VMOU, Kota" has been given in the tender document which may either be downloaded from http://www.eproc.rajasthan.gov.in, www.sppp.rajasthan.gov.in or University website www.vmou.ac.in. Bidder can participate in the Tendering Process only Online using http://www.eproc.rajasthan.gov.in Website, Bidders should have a valid DSC before bidding.

Demand Draft for Tender Form fee will be in favour of "VardhmanMahaveer Open University" Payable at Kota

Demand Draft for Processing Fee will be in favour of "MD, RISL" Payable at Jaipur.

All Demand Drafts should Reach to O.I.C. (Estate), Vardhman Mahaveer Open University, Administration Building, Room No. 3, Rawatbhata Road, Kota-324021 sealed in an envelope titled "Annual Rate contract for Repair & Maintenance work of Sanitary system and water supply system of University campus at VMOU, Kota" by 12/09/2024 up to 12:30 PM. failing which bid shall not be considered. Corrigendum if any, will be published on these websites only.

O.I.C (Estate)

Tender Document



Name of work:-

Annual Rate Contract for Repair & maintenance work of Sanitary system and water supply system of University campus at VMOU, Kota.

Ref:- NIB NO:- 17/2024-25.

Bid Submitted by

Name:
Address:
Contact No. :
Contact No. :
Fmail ID:



Vardhman Mahaveer Open University, Kota.

Rawatbhata Road, Kota.

Ph No.- Ph No.-0744-2797297 e-mail ID:- estate@vmou.ac.in.

DOCUMENTS TO BE ATTACHED IN ELIGIBILITY BID ENEVLOPE

Ref:- NIB No:- 17/2024-25

1.	Bid for (Name of work for which the tender is submitted.	"Annual Rate Contract for Repair & maintenance work of Sanitary system and water supply system of University campus at VMOU, Kota.
2.	NIT Dispatch No.& Date.	17/2024-25 Date: 31/08/2024
3.	Address of Procurement Entity.	O.I.C. (Estate), Room No3, Administrative Building, Rawatbhat Road, Vardhman Mahaveer Open University Kota-324021 Contact No:- 07442797297 Email Id:- estate@vmou.ac.in
4.	Copy of Registration with any Engg. govt. Deptt./govt. Under taking in "S" Class Contractors for Sanitary, pipe fitting & Plumbing work or in appropriate class of Civil work category	
5	PAN Card No. (Copy shall be enclosed).	
6	GST registration no. (Copy shall be enclosed).	
7	The tender fee amounting to Rs. 1000/- has been deposited vide Demand Draft in favour of Vardhman Mahaveer Open University, Kota.	Demand Draft Number
8	The EMD amounting to Rs. 42220/- has been deposited vide Demand Draft in favour of Vardhman Mahaveer Open University, Kota.	Demand Draft Number
9	The RISL fee amounting to Rs. 500/- has been deposited vide Demand Draft in favour of M.D. RISL Jaipur.	Demand Draft Number
10.	Copy of experience certificate equal to the 50% of the NIB amount of similar nature of Work i.e. sanitary work issued by competent authority of any Govt. Department or Govt. Undertaking or autonomous body of govt. in a year during any last five years ending 31.03.2024 either single or multiple orders. (Copy shall be enclosed).	
11.	Annexure A, B, C, D, general conditions and SPECIAL CONDITIONS duly signed on each page shall be enclosed.	
12.	Self declaration that the firm was not declared black listed from any institution/department.	

Enclosures:-

- (i) Copy of Registration with any Engg. govt. Deptt./ govt. Under taking in "S" category or in appropriate class of Civil work category
- (ii) PAN Card Copy
- (iii) GST registration Copy
- (iv) Demand draft for Tender fee
- (v) Demand draft for EMD
- (vi) Demand draft for MD, RISL, Jaipur.
- (vii) Work experience certificate issued by the competent authority.
- (viii) Annexure A, B, C, & D duly signed on each page.
- (ix) General conditions and Special Conditions duly signed on each page.
- (x) Self declaration that firm was not declared black listed from any Institution/Department.

Signature of the bidder with Seal & Mob. No.

Tender No. . NIB No. 17 /2024-25

Instructions to BIDDERS

Subject:- "Annual Rate contract for Repair & maintenance work of Sanitary system and water supply system of University campus at Vardhman Mahaveer Open University, Kota."

- 1. Scope of Work: The scope of the work under this contract covers, Annual Rate contract for Repair & maintenance work of sanitary system and water supply system of whole University campus at VMOU, Kota" & execution of items as stipulated in BOQ-I &BOQ-II. Entire internal sanitary/water system of various buildings & external water supply/sanitary system of campus will be maintained by the contractor "on as is where is basis (whether fixtures/systems are in working condition or not)" and contractor has to repair & maintain whole system & fixtures in working condition all the time during the year. If replacement of fixtures, accessories is required then it shall be replaced with material of same specification as of original fixtures and these will be paid as per BOQ-I items.
- 2. Tender documents shall be submitted wholly without detaching any part.
- **3.** Tenders shall be for the entire scope of the work mentioned in the tender documents.
- **4.** All the pages of tender documents shall be signed by the tenderer.
- 5. If by any reason the tender opening is postponed to any other date, the details will be displayed on web site http:/eproc.rajsthan.gov.in Tenders shall see the web site http:/eproc.rajsthan.gov.in regularly and keep themselves informed in this matter.
- **6.** Before quoting, the bidders may contact the "University" and fully understand the job, scope of works, unit of Measurements, mode of measurements, if any, working conditions, shut down arrangements, labour deployment requirements, risk contingencies, and such other factors which may affect their tender. The contractor should visit the site and acquaint himself with the site conditions before quoting for the work as approaches to site etc.. He should also sign every page of the tender document in token there of.
 - 7. <u>यदि "एस" श्रेणी में पंजीकृत संवेदक एवं सिविल कार्य हेतु पंजीकृत संवेदक की समान दरें प्राप्त होती है</u> तो "एस" श्रेणी में पंजीकृत संवेदक को प्राथमिकता प्रदान की जावेगी।
 - 8. निविदा प्रस्तुत करने की अन्तिम तिथि एवं समय से पूर्व निविदा एवं निविदा के किसी भी भाग या निविदा की शर्तों पर आपित्त होने की दशा में आपित्त मय औचित्य के प्रभारी अधिकारी, सम्पदा प्रकोष्ठ, वर्धमान महावीर खुला विश्वविद्यालय, कोटा को लिखित में प्रस्तुत करें जिसमें RTPP नियम 47 के अन्तर्गत कार्यवाही की जा सके।
 - 9. Tender document is available on htpp:/eproc.rajsthan.gov.in, www.vmou.ac.in, htpp:/sppp.rajsthan.gov.in
- **10.** Tenders shall be kept open for acceptance for a period of 3 months from the date of opening of tender.

11. EARNEST MONEY DEPOSIT (EMD), RISL FEES, Tender fees:-

Demand draft of RISL fees Rs. 500/- in favour of MD RISL JAIPUR which is non refundable. Similarly separate demand drafts for Tender fees for Rs. 1000/-(non refundable) and Demand draft for EMD for Rs. 42220.00 Drawn in favour of VARDHMAN MAHAVEER OPEN UNIVERSITY, Kota . All Demand Draft shall be valid for a period of three months from the tender opening date.

- **12.** MODE OF SUBMISSION OF TENDER :- The offer shall be submitted in 2(two) envelopes System on website htpp://eproc.rajsthan.gov.in .
- 13. BOQ should contain price bid in its prescribed format of BOQ-I in percentage rate format & BOQ-II IN item rate FORMAT.
- 14. Original DD OF TENDER FEES, EARNEST MONEY & RISL FEES HAS TO BE SUBMITTED IN THE Estate
 Office, Room No. 3, Adminsitrative building, Rawatbhata Road, Vardhman Maheer Open
 University, Kota OF KOTA 324021 BEFORE DATE & TIME PRESCRIBED IN NOTICE INVITING TENDER i.e.
 12/09/2024 upto 12.30 PM.

The first cover Eligibility BID ENVELOPE-1 shall be opened through E proc portal of only the bidders who have submitted **Original DD OF TENDER FEES, RISL FEES and EMD BEFORE DATE &TIME PRESCRIBED IN NOTICE INVITING TENDER**. Price bid of only those bidders will be opened who qualify the eligibility criteria.

- 15. The date and time of opening of the price bid along with names of successful tenders in pre-qualification will be subsequently displayed on the htpp:/eproc.rajsthan.gov.in only and no individual communication to tenders will be made.
- **16.** The documents uploaded by the tenders in respect of pre-qualification criteria are final and no further correspondence/clarifications/submission in this regard shall be entertained.
- 17. Scope of work, Bill of Quantities (BOQ), terms and conditions given in the tender documents (placed in the web site) are final. On verification at any time whether the tender is successful or not, if any of the documents submitted by the tender including the documents down-loaded from web site are found tampered/altered/incomplete, they are liable for action like rejection of the tender, cancellation and termination of Contract, debarring etc., as per rules of the UNIVERSITY.
- **18.** The University reserves the right to accept/reject any or all tenders either in part or in full or to split up and award the work to more than one agency without assigning any reasons thereof and without any liability to University .
- 19. If it comes to the notice of university at any stage right from request for tender document that any of the certificates/document submitted by bidders are found to be false/fake/doctored, the party will be debarred from Participation in all university tenders for a period of 05 years including termination of contract, if awarded. EMD/ Security Deposit, etc if any will be forfeited. The contracting Agency in such cases shall make good to university any loss or damage resulting from such termination. Contracts in operation anywhere in university will also be terminated with attendant fall-outs like forfeiture of EMD/ Security Deposit, if any, and recovery of risk and cost charges, etc. The tender documents and other details can be down-loaded from web site and the same are to be submitted on http://eproc.rajsthan.gov.in.
- 20. MINIMUM ELIGIBILITY CRITERIA:- The bid for those bidder shall only be considered as responsive who fulfills following eligibility criteria:
 - i. The bidder shall be registered with any Engg. govt. Deptt./ govt. Under taking and registration should be live as on date in "S I" category Contractor for Sanitary, Pipe fitting & Plumbing work or shall be registered in Civil work category (Mnimum C class as per PWF&AR or equivalent).

- ii. EMD for Rs. 42220/-, tender fees DD Rs. 1000/- in favour of Vardhman Mahaveer Open University, Kota & RISL Fees DD Rs. 500/- favour of M.D. RISL. Jaipur.
- iii. The bidder should have satisfactorily completed similar projects as defined total amounting to 50 % of tender amount. Similar projects in Institutional projects of central/state Govt./Govt. undertaking of similar nature i.e. sanitary &water supply WORK in a year during last five years ending 31.03.2023 either single order or multiple orders. Copy of the work orders and successful completion certificates of University must be submitted with the bid.
- iv. Copy of Registration Certificate under GST.
- v. Copy of PAN NO.
- vi Duly signed Annexure A,B,C,D, Terms and Conditions and special terms and conditions.
- Vii Self declaration that the firm was not declared black listed by any institution/department.

BOQ-I in percentage rate format & BOQ-II Item rate FORMAT FOR WHICH RATES TO BE QUOATED BY BIDDER.

The Interested bidders may submit their on-line bids along with separate Demand Drafts drawn in favour of "Vardhman Mahaveer Open University, Kota" payable at Kota towards the cost of Tender Fee (non-refundable) and EMD. Also RISL Processing Fee (Non-refundable) demand draft shall be in favour of "Managing Director, RISL" payable at Jaipur.

The above original demand drafts must reach physically in the office of Procurement Entity, i.e. Office Incharge (Estate Cell), Room No. 3 , Administrative Building, Rawatbhata Road, Vardhman Mahaveer Open University, Kota-324021 on or before last date as mentioned in notice inviting E-bid, failing which bids shall not be considered.

The Eligibility bid shall be opened on the day 12/09/2024 at 02.00 PM (in the same office) in the presence of bidders who wish to be present. Time & date of opening the financial E-bid of Eligibility qualified bidders, as above, will be intimated by the university through E proc portal.

SIGNATURE OF BIDDER WITH SEAL

OIC (Estate)

Tender No. . NIB No. 17/2024-25

Preamble to Bill Of Quantities

- 01. The quantities are probable and the bid submitted by the tenderer should be based on probable quantities of the item of the work which are furnished for the tenderers convenience in the Bill of Quantities. It must be clearly understood that the contract is not a lump sum contract and that neither probable quantities nor the aggregate value of the entire tender will form a part of the contract
- 02. The quantities are approximate and may vary being a maintenance work. However payment shall be made as per the actual work carried out on approved rates.
- 03. The contractor is advised to visit the site to acquaint himself the nature and scope of work.
- 04. The work is to be executed as per the directions of the UNIVERSITY and the contractor is to mobilise men and material at short notice.
- 05. On demand of Contractor, if available one Unfurnished space will be provide to Contractor for storage purposes at free of cost, however electricity and water consumption charges if any, are to be bear by the contractor.
- 06. Contractor to be responsible for hiring / operating of all machines / equipment.
- 07. The bidder must visit the site and shall factor that some work is to be executed at height of second floor.

SIGNATURE OF BIDDER WITH SEAL

OIC (Estate)

Ref:- NIB NO:- 17/2024-25

Special Terms & Conditions-----

- 1. Conditional tender will not be accepted.
- 2. The R.T.P.P. rule 2013 shall govern the Contract.
- 3. The Rates shall be valid for whole contract period i.e. for ONE YEAR
- 4. The rates quoted by the contractor shall be including GST and all other taxes levied by the govt. time to time.
- 5. Firm quoting Lowest total i.e total of quoted rates of BOQ I and BOQ II will be considered as lowest one.
- 5. The given quantities are tentative & may vary as per actual requirements. Payment shall be made on actual quantity of work executed on approved rates and there is no guarantee for minimum qty of any item to be executed.
- 6. If machinery repairing works required at contractor's workshop, arrangement regarding loading; unloading & transportation should be done by contractor at his own cost.
- 7. All other Terms & Conditions are as per G.F. & A.R, PWF&R & Rajasthan Transparency in public procurement act 2012 & Rules 2013.
- 8. The Contract will be for ONE YEAR from the date of issue of work order, However same can be extended with mutual consent on the same terms conditions & already approved rates as per RTPP rules.
- 9. The bidder must visit the site and assess/ survey the condition of works to be executed at various locations in the University campus, Rates shall be quoted accordingly. All T&P and other Misc. Items as directed shall be arranged by the bidder at his own cost, rates quoted shall be inclusive of all Charges/ taxes (if any) bidder has to comply all labour rules. Work is to be executed at all height with all leads no extra payment will be made on this account. In case of any mishappening at site, the contractor/agency shall be sole responsible for any sort of compensations.
- 10. Successful bidder will have to execute agreement on the prescribed format on his cost on non judicial stamp paper & deposit Performance security as per rules the value of the work order amount as per rules within 07 days of issue or the work order. Which shall be refundable after end of rate contract. Performance security may be deposited in the form of cash, bank guarantee or FDR of nationalized bank only in favour of Vardhman Mahaveer Open University, Kota. Bank gaurntee or FDR of nationalized bank submitted in lieu of Performance security shall be valid till the FOURTEEN months from date of issue of work order otherwise Security deposit will be deducted as per rules from Contractor running bills and will be refund after defect liability priod i.e. 6 MONTHS from actual date of Completion of work. The security deposit shall bear no interest. All other deductions will be as per govt. rules.
- 11. The contractor will be responsible for deployment of sufficient man power as per requirement of the work.
- 12. The contractor will be responsible for procurement of all/any materials as per approved quality required for completion of job at any time.
- 13. All the materials required as per B.O.Q. for the work shall be arranged by the contractor at his own cost and risk.
- 15. If performance of the agency is not found satisfactory, The job will be terminated with forfeiture of performance guarantee amount.

- 16. All dismantled debris are to be disposed off as directed by the university, no extra payment on account of lead, lift, transportation etc. will be made by the university, all these shall be included in the rates quoted by the bidder.
- 17. Successful bidder will have to execute agreement on non judicial stamp paper as per prevailing rules.
- 18. The contractor shall plan and execute his work in phased manner as directed by the Engineer from time to time and shall fully cooperate with other agencies working at site simultaneously as well as with the University's operation department so as not to obstruct or retard the work being simultaneously executed by other agencies and the plant operation in any way. The decision of the Engineer is final and binding on all the parties concerned.
- 19. The rates quoted shall be inclusive of all types of taxes, levies, duties&GST, etc. and no claim whatsoever on this account will be admissible. Also GST, IT, MININGTAX if any, as per the direction of State/Central Government on work contract shall be deducted from the bills of the Contractor. Necessary receipt to this effect will be issued to the contractor.
- 20. The agency shall be responsible to attend the complaints given within 24 hours. The contractor will be responsible for deployment of man power as defined above along with supervisors.
- 21. Contractor has to attend complaints round the clock i.e. in nights also if required &contractor must Make all necessary emergency arrangements for this, as there are residential qtr in the University campus.
- 23. Entire internal sanitary/water system of various buildings & external water supply/sanitary system of campus will be maintained by the contractor "on as is where is basis(whether fixtures/systems are in working condition or not)" and contractor has to repair &maintain whole system &fixtures in working condition all the time during the year. If replacement of fixtures, accessories is required then it shall be replaced with material of same specification as of original fixtures and these will be paid as per BOQ-I items.
- 24. To execute the BOQ-II item, contractor has to employ trained and qualified Plumbers for the work as per requirement & as per direction of engineer in charge, daily they shall be available in the university campus—during working hrs for operation, repair &maintenance work of water supply &sanitary system. Contractor has to make emergency arrangements also as &when required even after office hrs i.e. during night. All such cost is deemed to be included in quoted rates of BOQ—II item, no extra payment will be made by the university.
- 25. During repair &maintenance work if fixtures and other material are replaced then unserviceable material /fixtures and other scrap material generated during execution of work will be the property of contractor and recovery @2% of payable bill amount will be made from bill of the contractor.
- 26. BOQ-I items rates are based on PWD, BSR 2022 and in case of any typographical error, relevant BSR shall be final.
- 27. Contractor will have to employ trained and qualified workers for the work as per direction of engineer in charge as &when required even after office hrs i.e. during night.
- 28. The contractor shall bear full liability for payments under provident fund and employees State Insurance Scheme and other labour laws for his workers and staff.
- 29. The rates quoted in the tender shall be firm and shall not be subject to any escalation till the completion of work due to increase in the prices of materials, labour wages sales Tax etc. for any reasons, whatsoever.
- 30. Quality of materials and workmanship shall conform strictly to tender specifications and Contractor will ensure will ensure that the quality of work is appropriate to the specifications and the work is done to the satisfaction of the Architect with strict control on the materials, workmanship and supervision.
- 31. The whole of the work including electrical / plumbing / sanitation is to be complied with as per the requirements and bye laws of the relevant statutory authorities.
- 32. The Contractor shall get the all the material approved by the UNIVERSITY ENGINEER in consultation with the University prior to its use. The contractor shall keep one set of sample of materials approved UNIVERSITY ENGINEER

- by the for its ready reference at site of work and shall ensure that the materials incorporated in the works strictly conform to the sample approved.
- 33. All other materials for use in the work shall be got approved by the UNIVERSITY ENGINEER before placing order / procurement.
- 34. The contractor shall assist in taking the measurements by the UNIVERSITY ENGINEER representatives, before covering up or otherwise placing beyond there each of measurements any, item of work. Should the contractor neglect to do so the same shall be uncovered at the Contractor's expense and if found to be executed in default of specifications/requirements, no payment or allowance shall be made for such work and Contractor shall have to remove and re-do the same at his own cost.

36. Insurance in respect of damage to persons and property

- a. The contractor shall be responsible for all injury to persons, animals or things and for all structural and decorative damage to property which may arise from the operation or neglect of himself or of any approved sub -contractor's or employees, whether such injury or carelessness, from accident or any other cause whatsoever in any way arise connected with the carrying out of this contract. The clause shall be held to include any damage to buildings, whether immediately adjacent or otherwise, and any damage to roads, streets, foot paths, bridges and works forming the subject of this contract by frost or other inclemency of the weather. The contractor shall indemnify the University and hold him harmless damage to persons or property as aforesaid and also respect of any claims made in respect of injury or damage under any Acts of Government or otherwise and also in respect of any award of compensation of damages consequent upon such claims.
- b. The contractor shall reinstate all damages of every sort mentioned in this clause, so as to deliver up the whole of the contract works complete and perfect in every respect and so as to make good or otherwise satisfy all claims for damage to the property of third parties.
- The contractor shall indemnify the University against all claims which may be made against the University by any member of the public or other third party in respect of works in consequence thereof and shall at his own expense arrange to effect and maintain, until the virtual completion of the contract, with any Nationalized Insurance company in the joint name of the University and the contractor against such risks and deposit such policy or policies with the University from time to time during the currency of this The contractor shall similarly indemnify the University against all claims may be made contract. upon the University whether under the Workman's Compensation Act or any other statute in force during the currency of this contract or at common law in respect of any employee of the contractor or any sub - contractor and shall at his own expenses effect and maintain with an approved office a policy of Insurance in the joint names of the University and the contractor against such risks and deposit such policy of policies the University and the contractor against such risks and deposit such policy or policies with the University from time to time during the currency of the contract. The contractor anything which may be excluded from the insurance policies shall be responsible for above referred to and also for all other damages to any property arising out of and negligent or defective carrying out of this contract. He shall also incidental University in respect of any costs, charges or expenses arising out of any or proceedings and also in respect of any award of or compensation of damages arising there from.
- d. The University shall be at liberty and is empowered to deduct the amount of any damages, compensation costs, charges and expenses arising or occurring from or in respect of any such claim or damage from any sum or sums due to or become due to the contractor including the security deposit.
- e. If the contractor fails to comply with the terms of these conditions, the University may insure the works and may deduct the amount of the premiums paid from any moneys that may be or become payable to the contractor or may at the option, not release running payment to the contractor until the contractor shall have complied with the terms of this condition.

- f. Such insurance whether affected by the University or the contractor will not limit or bar the liability and obligation of the contractor to deliver the works to the University completed in all respects according to the contract. In case of loss or damage due to any of the aforesaid clause, the moneys payable under any such insurance shall be received and retained by the University until the works are finally completed and such moneys shall then be credited to the contractor in final settlement of accounts.
- g. The works shall be executed in close co-ordination with the progress of other work. This being absence of the contract, no claim for idles labor will be entertained.
- 37. The whole of the work as described in the Contract (including the Bill of Quantities, the Specifications, General / Special Conditions pertaining thereto) and as advised by the university engineer from time to time is to carried out and completed in all its parts to the enter satisfaction of the university engineer. Any details of execution, which may not have been definitely referred to in this contract, but which are usual in interior works and essential to the work, are deemed to be included in this contract. Rates quoted in the Schedule shall be inclusive of all freights, taxes, Royalties, work contract tax, GST etc., as well as transportation, so as to execute the contract as per the rules and regulations of local bodies, and Government of India /Rajasthan.

The rates quoted in the tender should include all charges for: -

- a) Labour, maintenance, Fixing, carrying, Cleaning, making good, hauling, watering etc.
- b) Plant, Scaffolding, frame work, ladders, ropes, nails, spikes, tools, materials and workmanship protection from weather, shuttering, temporary supports, Platform etc.
- c) AH temporary canvas, lights, barricades etc. The university engineer will be the sole judge in deciding as the suitability of the tools or plants that might be brought to the site of works by the Contractor for the proper execution of the work.
- 38. The Contractor workmen may be allowed to work on Sundays/Holidays subject to the prior permission of the same by the University. No extra cost claim would be entertained for the above.
- 39. All work shall be carried out as described in the tender item and with the .P.W.D.rajsthan Specifications laid their in, unless otherwise stated. If not covered as above, I.S. codes specifications shall be followed in that order. For patented products, the manufacturer's specifications and instruction shall be followed. For any discrepancy in various specifications, university engineer decision shall be final and binding on both the parties. In case there are no laid down specifications, university engineer specifications and instructions for that particular item shall be followed.

40. Liquidated Damages for Delay

The times and date stipulated in the contract for the completion of the work or any part or stage thereof shall be deemed to be the essence of the contract.

The work shall, throughout the stipulated period of the contract, be carried out with all diligence. If the contractor fails to complete the work within the time prescribed or within the extended time under the contract, he shall pay to the University on demand amount without prejudice to other rights and remedies the University may have against the contractor, a sum of Rs. 2,000/-(rupees one thousand per week) as liquidated damages for such fault, if the work remain unfinished after the stipulated date of completion provided that the total liquidated damages payable shall not exceed 10% of the accepted contract price. The University may, without prejudice to any other method of recovery, deduct the amount of such damages from any money due or which become due to the contractor. The recovery or deduction of such damages shall not relieve the contractor from any obligations and liabilities under the contract.

42. Rectification of Defects

If, it shall appear to the university or his representative in-charge of the works that any work any has been executed with unsound, imperfect or un-skillful workmanship or material or

any inferior description, the contractor shall, on demand, in writing from the university specifying the work material or articles complained of shall rectify or remove and reconstruction work so specified in part, as the case may require.

43. Suspension of Work

The contractor shall on the written order university to suspend the progress of the work or any part thereof for such time or time and in such a manner as university may consider necessary and shall during such suspension properly protect and secure the work as considered necessary in the opinion of university or their representative-in-charge of the work. No compensation shall be payable to the contractor on what so ever account for the suspension of work.

44. Claim for Interest

No claim for interest will be entertained by the University with respect to any moneys or balances which may be in its hands owing to a dispute between itself and the contractor or with respect of any delay on the part of the University in making interim or final payments or otherwise.

45. Jurisdiction

The contractor and its operation shall be governed by the law of India for the time being in force, irrespective of the place of delivery of materials the place of execution of work or place of payment under this contract shall be deemed to have been entered into at KOTA only.

Signature of bidder With name & Seal

FINANCIAL BID

(PART-A) G-SCHEDULE

S. No.	BSR Item No.	Description	Unit	Qty	Rate	Amount
1	1.1.2	P. & F Squatting Pan (Indian type) white glazed vitreous china 1st quality W.C. Pan (IS: 2556 Mark) with 100 mm vitreous china P or S trap including cutting and making good the wall and floor (excluding the pair of foot rest.) Size 510 mm	Each	3.00	1069.00	3207.00
2	1.2.2	P & F Indian type white glazed vitreous china 1st quality W.C. orissa pan (IS :2556 Mark) with 100 mm vitreous china P or S trap including cutting and making good the wall and floor: Size 580x440mm.	F I-	6.00	3080.00	18480.00
3	1.3	P & F WVC Foot- rest (IS : 2556 Mark) including cutting and making good the floor size: 250x125x25mm.	Each			
4	1.4	P & F European type white glazed vitreous china 1st quality W.C pan (IS: 2556 Mark) with P or S trap including cutting and making good the wall and floor	Pair Each	6.00	172.00 2420.00	3440.00 14520.00
5	1.7.2	P & F water closet Seat Covers with brass hinges complete : -do- White.	Each	24.00	485.00	11640.00
6	1.13	P & F White Vitreous China Double Syphonic European W.C. (I.S:2556Mark) with mounted W.V.C. flushing cistern of (IS: 2556 Mark) of 10 litre capacity complete with all necessary internal fittings including cutting and making good the wall and floor.	Each	3.00	12114.00	36342.00
7	1.14.2	P & F Ist quality WVC Urinal (IS:2556 mark) with 25mm dia G.I. waste pipe, dome waste couplings, concealed iron brackets or screws etc complete. Flat Back (large) or half stall size 610x400x80mm.	Each	4.00	4637.00	18548.00
8	1.16.1	P&F Marble Urinal Partition slab both sides polished of approved design cut from marble size 900x600mm. Makrana II quality marble having light spots	Each	6.00	923.00	5538.00
9	1.18.1	P & F W.V.C. (IS: 2556 Mark) Squatting Urinal of standard make complete. Including cutting & making good the floor: Size 450x350mm	Each	6.00	853.00	5118.00
10	1.19	LABOUR charges for removing and refixing of urinals (all type & sizes) including all necessary fittings.	Each	10.00	339.00	3390.00
11	1.20.2	P & F Low level Flushing Cistern of 10 litres capacity (IS: 2556mark). Of approved make with complete fittings C.I. brackets duly painted, brass ball cock with ball, (IS: 1703 mark) complete including cutting and making good the wall: PVC with PVC bend as per IS: 7231.	Each	12.00	1291.00	15492.00
12	122.2	P & F Flush Pipe of approved make with complete fittings for high level flushing cistern: G.I. `B` class (Concealed) 32 mm.	Each	24.00	513.00	12312.00
13	1.22.3	P & F Flush Pipe of approved make with complete fittings for high level flushing cistern:PVC exposed (heavy) 32mm.	Each	24.00	168.00	4032.00
14	1.28.1	P & F C.P. brass Urinal Flush Pipe set complete with flanged brackets of approved make. For 4 Urinals	Each	12.00	1331.00	15972.00
15	1.28.3	P & F C.P. brass Urinal Flush Pipe set complete with flanged brackets of approved make. For 2 Urinals	Each	12.00	736.00	8832.00
16	1.29.1	P & F C.P. brass Urinal Spreader for stall urinal of approved make.	Each	12.00	363.00	4356.00
17	1.29.2	P & F Synthetic (PTMT) Urinal Spreader for stall urinal of approved make.	Each	10.00	246.00	2460.00

18	1.30.1	P & F C.P. brass Doom Waste Coupling				
		32 mm dia.	Each	10.00	152.00	1520.00
19	1.33	Removing and re-fixing of wash hand basin including all necessary fittings.	Each	10.00	239.00	2390.00
20	1.34	P & F metal brackets duly painted including cutting & making good the wall.	Pair	10.00	165.00	1650.00
21	1.36.4	P & F WVC wash basin (1st quality, I.S. : 2556 Mark) of approved make with C.I. brackets duly painted, 1 No. 15 mm C.P. Pillar cock (IS : 8934 Mark) & 32 mm C.P. brass waste coupling of approved make, 25 mm G.I. waste pipe complete including cutting & making good the wall.: Size 580 mm x 450 mm	Each	8.00	2745.00	21960.00
22	1.36.10	P & F WVC wash basin (1st quality, I.S. : 2556 Mark) of approved make with C.I. brackets duly painted, 1 No. 15 mm C.P. Pillar cock (IS : 8934 Mark) & 32 mm C.P. brass waste coupling of approved make, 25 mm G.I. waste pipe complete including cutting & making good the wall.: Add extra for using 25mm GI waste pipe instead of PVC waste pipe	Each	6.00	90.00	540.00
23	1.38.3	P & F Kitchen & Lab. Sink of approved make with C.I. brackets duly painted, 40 mm C.P. waste coupling, C.P. Brass chain with rubber plug, 40 mm G.I. waste pipe up-to floor level complete including cutting and making good the wall & floor: WVC Lab sink (IS:2556 mark) size 530 x 430 x 180 mm	Each	2.00	2754.00	5508.00
24	1.38.9.3	P & F Kitchen & Lab. Sink of approved make with C.I. brackets duly painted, 40 mm C.P. waste coupling, C.P. Brass chain with rubber plug, 40 mm G.I. waste pipe up-to floor level complete including cutting and making good the wall & floor: 1.0 mm thick Salem stainless steel AISI -304 & IS 13983-1994 kitchen sink of approved make with large waste coupling. 24 x 18 x 8 Overall size (inches), 20x16x8 Bowl size (inches)	Each	2.00	5062.00	10124.00
25	1.39.2	P & F Drain Board of approved make with C.I. brackets duly painted compolete including cutting & making good the wall: Mosaic fine polished size 600 x 450	Each	12.00	407.00	4884.00
26	1.42.4	P& F waste Coulping with fittings of approved quality /make:SS 125 mm	Each	36.00	305.00	10980.00
27	1.44.1	P & F Bevelled edge Mirror/mirror with teak wood lipping around of special glass of approved make complete with 6mm thick commercial ply base fixed to wooden screws & washers. Size 600 x 450mm x 4 mm thick	Each	24.00	575.00	13800.00
28	1.44.2	P & F Bevelled edge Mirror/mirror with teak wood lipping around of special glass of approved make complete with 6mm thick commercial ply base fixed to wooden screws & washers. Other sizes	Sqm.	10.00	1538.00	15380.00
29	1.45.3	P & F Looking Mirrors with P.V.C. frame of approved make as per direction of engineer-in-charge. Round 500mm dia		24.00	549.00	13176.00
30	1.46.5	P & F Toilet Shelf of approved quality/make: Acrylic shelf on C.P. brass casted brackets & guard rail of Commander or equivalent make size 550x125mm	Each Each	6.00	997.00	5982.00
31	1.46.6	P & F Toilet Shelf of approved quality/make: Glass Shelf with edges rounded off Anodised Aluminium angle frame & C.P. brass brackets & guard rail size 600x120mm	Each	6.00	361.00	2166.00
32	1.47.4	P & F Towel Rail or Ring of approved quality/make: C.P. brass towel rail with brackets 600 x 20mm.	Each	24.00	337.00	8088.00
33	1.47.8	P & F Towel Rail or Ring of approved quality/make: C.P. Brass Towel Ring revolving type	Each	24.00	254.00	6096.00
34	1.48.1	P & F Grating of approved quality/make : Stainless Steel Sheet size 125mm dia.	Each	24.00	62.00	1488.00

35	1.48.5	P & F Grating of approved quality/make : Square 150 x 150 x 8mm. (Anti Cockroach)	Each	10.00	358.00	3580.00
36	1.49.1	P & F Liquid Soap Container with brackets complete of approved make: C.P. brass	Each	10.00	238.00	2380.00
37	1.50.2	P & F Tooth Paste & Brush Holder of approved quality/make:C.P. brass (Heavy and Superior quality.	Each	6.00	520.00	3120.00
38		C.P. brass heavy & Superior quality.		6	602.00	3612.00
39	1.52.2	P & F Soap Dish or Tray of approved quality/make	Each	U	002.00	3012.00
		C.P. brass heavy and superior quality.	Each	10	156.00	1560.00
40	1.53.2	P & F Twin- peg of approved quality / make	Lacii	10	130.00	1300.00
		C.P. brass (heavy)Superior quality	Each	2	149.00	298.00
41	1.56	P & F Extension Pipe for bib cocks of approved quality/make.	Lacii	2	117.00	270.00
42	1.56.2	P & F Extension Pipe for bib cocks of approved quality/make. 100 X 15mm.	b	24	110.00	2856.00
43	1.56.3	P & F Extension Pipe for bib cocks of approved	Each	24	119.00	2830.00
44	1.57	quality/make. 150 X 15mm. P & F Acrylic Toilet accessories set consisting of Towel	Each	18	168.00	3024.00
44	1.57	rail, shelf, towel ring, soap dish, paste & brush holder & twin peg of approved quality/make.	Each	6	1179.00	7074.00
45	1.58.1	LABOUR Charges for removing WVC pan : Indian/Orissa pan		24	227.00	5448.00
46	1.58.2	LABOUR Charges for removing WVC pan : European W.C.	Each			
47	1.58.3	LABOUR Charges for removing WVC pan : Flushing	Each	24	227.00	5448.00
48	1.59	P & F Jet spray for water closet with C.P. Copper Tube	Each	24	96.00	2304.00
40	1.59	flange of approved make.	Each	6	381.00	2286.00
49	1.62	Providing & fixing C.P.flange for 15mm dia taps.	Each	60	18.00	1080.00
50	1.63	P & F C.P. Health Faucet with 1Mtr. Long Tube & Hook of approved make and heavy as per direction of Enginner-in-Charge		6	605.00	3630.00
51	1.67	Removing & Re fixing of P.V.C. Cistern fittings (Syphon, Ball cock & Handle Set) complete as per direction of	Each	0	003.00	3030.00
	4.00.0	Enginner-in-Charge	Each	6	468.00	2808.00
52	1.68.3	Providing & Fixing Premium Quality white glazed vitreous china Sanitary Wares (IS:2556 Mark) of approved make as per direction of Engineer-in-charge including cutting and making good the wall and floor. Wall Mounting European type W.C.	Factor	1	0072.00	0072 00
53	1.69.1	Providing & Fixing premium qulaity WVC Urinal with PVC waste pipe, dome couplings, concealed iron brackets or screws etc. complete. Flat Back (small) size 440x265x315 mm.	Each	12	9072.00	9072.00
54	1.68.2	Providing & Fixing premium qulaity WVC Urinal with PVC waste pipe, dome couplings, concealed iron brackets or screws etc. complete. Flat Back (large) or half stall size 590x375x390 mm.	Each	12	2619.00	31428.00
55	1.71.1	Providing & Fixing premium qulaity WVC Wash basin with	Each	6	6246.00	37476.00
		C.I. brackets duly painted & 32 mm C.P. brass waste coupling of approved make with PVC waste pipe complete. Size 550 mm x 400 mm	Each	6	2334.00	14004.00

56	1.73	P & F Premium quality Low level Flushing Cistern of 10 litres capacity (IS:2556 mark) of approved make as per Engineer-in-charge with complete fittings C.I. brackets duly painted, brass ball cock with ball, (IS:1703 mark) complete including cutting and making good the wall:	Each	12	1823.00	21876.00
57	1.74	P&F Looking Mirror 5mm thick of approved make with ornamental frame size 50x12 with 6mm Ply Board on Back Side Complete as per approved sample	Sqm	30	2544.00	76320.00
58	1.75	Supply of Hydraulic Seat Cover for Europeon WC of superior quality approved make in white Colour	Each	6	4057.00	24342.00
59	1.76	Providing & Fixing chair for wall hung W.C.	Each	6	1604.00	9624.00
60	1.77	Providing & Fixing Concealed cistern with Floor mounting frame and flush plate of superior quality and approved sample by Engineer-in-charge.	Each	1	8187.00	8187.00
61	1.79	Providing & Fixing premium quality Toilet corner Glass Shelf size 225x225mm with C.P. brass brackets & guard rail edges rounded of SS frame	Each	6	1562.00	9372.00
62	1.81	Providing & Fixing Premium quality Bottle trap internal portion 32mm, size 250mm long wall connection pipe & wall flange as per approved by Engineer in Charge.	Each	2	1599.00	3198.00
63	2.1	P & F G.I. pipes (Internal Work) with G.I. Fittings excluding union (IS:1239 Mark) & MS clamps including cutting and making good the walls and floors:				
	(a)	Exposed on wall				
	2.1.1	15 mm dia nominal bore 'B' Class	Mtr.	25	230.00	5750.00
	2.1.3	25mm dia nominal bore 'B' Class	Mtr.	30	360.00	10800.00
	2.1.4	32mm dia nominal bore 'B' Class	Mtr.	25	436.00	10900.00
	2.1.6	50mm dia nominal bore 'B' Class	Mtr.	15	673.00	10095.00
64	2.1	P & F G.I. pipes (Internal Work) with G.I. Fittings excluding union (IS:1239 Mark) & MS clamps including cutting and making good the walls and floors:		-		
	(b)	Concealed pipe in wall including painting with anticorrosive bitumen paint				
	2.1.9	15 mm dia nominal bore 'B' Class	Mtr.	20	242.00	4840.00
	2.1.11	25mm dia nominal bore 'B' Class	Mtr.	30	429.00	12870.00
65	2.2	P & F G.I. Pipes (External Work) with G.I. fittings excluding union (IS: 1239 Mark) including trenching & refilling earth etc.	IVIU.		427.00	0.00
	2.2.1	15mm dia nominal bore 'B' Class	Mtr.	25	190.00	4750.00
	2.2.2	20mm dia nominal bore 'B' Class		5	222.00	1110.00
	2.2.3	25mm dia nominal bore 'B' Class	Mtr. Mtr.	50	278.00	13900.00
	2.2.4	32mm dia nominal bore 'B' Class	Mtr.	50	342.00	17100.00
	2.2.6	50mm dia nominal bore 'B' Class	Mtr.	50	491.00	24550.00
	2.2.7	65mm dia nominal bore 'B' Class	Mtr.	10	622.00	6220.00
	2.2.8	80mm dia nominal bore 'B' Class	Mtr.	15	772.00	11580.00
66	2.3.1	Making connection of G.I. distribution branch with G.I. main including all fitting. Upto 25mm dia	Each	10	265.00	2650.00
67	2.3.2	Making connection of G.I. distribution branch with G.I. main including all fitting. Beyond 25mm & upto 100mm dia	Each	6	389.00	2334.00

68	2.6.1	P & F Pilllar Cocks (IS:8934 Mark) of superior quality and approved make: C.P. Pillar cock, 15 mm dia nominal bore	Each	8	779.00	6232.00
69	2.6.3	C.P. Pillar cock fancy type, 15mm nominal bore.	Each	2	914.00	1828.00
70	2.6.5	P & F Pilllar Cocks (IS:8934 Mark) of superior quality and approved make: C.P. Pillar cock, high-neck, 15 mm nominal bore.		2	779.00	1558.00
71	2.6.6	P & F Pillar Cocks (IS:8934 Mark) of superior quality and approved make: Synthetic MATERIAL (PTMT) Pillar cock of approved quality / make 15mm nominal bore.	Each Each	2	388.00	776.00
72	2.7.1	P & F Bib Cock (IS: 8931 Mark), Superior quality of approved make: Brass 400 gm,15mm nominal bore.	Each	2	298.00	596.00
73	2.7.2	P & F Bib Cock (IS: 8931 Mark), Superior quality of approved make: P.V.C.heavy duty, 15mm nominal bore.	Each	3	106.00	318.00
74	2.7.3	P & F Bib Cock (IS: 8931 Mark), Superior quality of approved make: C.P. Brass bib cock,15mm nominal bore.	Each	3	590.00	1770.00
75	2.7.4	P & F Bib Cock (IS: 8931 Mark), Superior quality of approved make: C. P. Brass swan - neck, 15mm nominal bore.	Each	3	783.00	2349.00
76	2.7.8	P&F Bib Cock (IS: 8931 Mark), Superior quality of approved make: Synthetic MATERIAL (PTMT) bib cock of approved quality/make, nominal bore, 15mm, 86 mm long.	Each	3	232.00	696.00
77	2.7.9	P & F Bib Cock (IS: 8931 Mark), Superior quality of approved make: Fancy Type, 122 mm long.	Each	3	295.00	885.00
78	2.8.1	P & F Stop Cock (IS :8931 Mark), superior quality & of approved make: Brass 400 gm. 15mm nominal bore.	Each	3	319.00	957.00
79	2.8.2	P & F Stop Cock (IS :8931 Mark), superior quality & of approved make: 750 gm. 20 mm nominal bore.	Each	3	460.00	1380.00
80	2.8.3	P & F Stop Cock (IS :8931 Mark), superior quality & of approved make: 1350gm. 25 mm nominal bore.		3		
81	2.8.5	P & F Stop Cock (IS:8931 Mark), superior quality & of approved make: Concealed Stop Cock 15mm.	Each Each	3	729.00 1009.00	3027.00
82	2.8.6	P & F Stop Cock (IS:8931 Mark), superior quality & of approved make: Synthetic MATERIAL (PTMT) stop cock of approved quality/make 15mm.	Each	3	231.00	693.00
83	2.9.1	P & F Sink Cocks of superior quality & approved made : C.P. Sink cock swinging spout 15mm.				
84	210.1	P & F Push Cock superior quality, of approved make C.P.	Each	2	977.00	1954.00
		Brass 15 mm.	Each	2	370.00	740.00
85	2.10.2	P & F Push Cock superior quality, of approved make Synthetic MATERIAL (PTMT) push cock of approved quality/make 15mm.	Each	12	205.00	2460.00
86	2.11.2	P & F Ball Cock (IS :1703 Mark) with Rod & P.V.C. Ball complete : Brass wt.Not less than 400 gm, 20mm.	Each	2	368.00	736.00
87	2.11.3	P & F Ball Cock (IS :1703 Mark) with Rod & P.V.C. Ball complete : wt.Not less than 600 gm, 25mm.	Each	2	440.00	880.00
88	2.12.1	P & F Inlet Connection (Angle Valves) Superior quality, of approved make, for Wash basin, Gyser etc. C.P. Inlet connection 15mm.Brass (IS: 8931 marked)				
89	2.12.2	P & F Inlet Connection (Angle Valves) Superior quality, of approved make, for Wash basin, Gyser etc. with 37 cm long pipe and nut.	Each	6	501.00	3006.00
90	2.12.3	P & F Inlet Connection (Angle Valves) Superior quality, of approved make, for Wash basin, Gyser etc. with 37 cm	Each	6	590.00	3540.00
		long thread and nut	Each	6	626.00	3756.00

91	2.13.1	P & F 15 mm. Dia Connection Pipe of approved quality/make: PVC pipe with C.P. Brass nuts upto length, 300mm		6	72.00	429.00
92	2.13.2	P & F 15 mm. Dia Connection Pipe of approved quality/make: upto length 370mm	Each	6	73.00	438.00
93	2.13.3	P & F 15 mm. Dia Connection Pipe of approved quality/make: 450mm.	Each	12	79.00	948.00
94	2.13.4	P & F 15 mm. Dia Connection Pipe of approved quality/make: 600mm.	Each	6	101.00	606.00
95	2.14.1	P & F Flush Cock / Flush Valve (IS: 9758 Mark) for	Each	6	116.00	696.00
		WC of approved quality make : CP brass push type 15mm nominal bore.	Each	5	358.00	1790.00
96	2.14.3	P & F Flush Cock / Flush Valve (IS: 9758 Mark) for WC of approved quality make: exposed 25mm nominal bore.				
97	2.14.7	P & F Flush Cock / Flush Valve (IS: 9758 Mark) for	Each	3	961.00	2883.00
3,	2.11.7	WC of approved quality make : Half-turn exposed 25mm nominal bore.	Each	3	783.00	2349.00
98	2.14.8	P & F Flush Cock / Flush Valve (IS: 9758 Mark) for WC of approved quality make: Concealed 25mm				
		nominal bore.	Each	3	902.00	2706.00
99	2.14.9	P & F Flush Cock / Flush Valve (IS: 9758 Mark) for WC of approved quality make: Brass / Gun metal Halfturn wt. 1 Kg. of approved quality / make, 25mm				
100	2.14.10	nominal bore. P & F Flush Cock / Flush Valve (IS: 9758 Mark) for	Each	2	551.00	1102.00
100	2.14.10	WC of approved quality make : CP Brass flush valve 32mm nominal bore		1	1002.00	1002.00
101	2.15.1	P & F Full-way Valve (IS:778 Mark) or wheel valve of	Each	1	1993.00	1993.00
		approved make Gun-metal 15mm nominal bore.	Each	24	227.00	5448.00
102	2.15.2	P & F Full-way Valve (IS:778 Mark) or wheel valve of approved make 20mm nominal bore.	Each	8	358.00	2864.00
103	2.15.3	P & F Full-way Valve (IS:778 Mark) or wheel valve of approved make 25mm nominal bore.	Each	25	529.00	13225.00
104	2.15.4	P & F Full-way Valve (IS:778 Mark) or wheel valve of approved make 32mm nominal bore.	Each	4	703.00	2812.00
105	2.15.6	P & F Full-way Valve (IS:778 Mark) or wheel valve of	Luon	· ·	702.00	2012.00
		approved make 50mm nominal bore.	Each	2	1074.00	2148.00
106	2.15.7	P & F Full-way Valve (IS:778 Mark) or wheel valve of approved make 65mm nominal bore.				
107	2.19.1	P & F Chromium plated Swan-neck LABOratory Cock	Each	2	1783.00	3566.00
107	2.19.1	of approved quality / make: One way	Each	1	384.00	384.00
108	2.20.1	P & F Spouts of superior quality and approved make: C.P.	Each	1	304.00	304.00
	0.04.1	brass spout	Each	2	662.00	1324.00
109	2.21.1	P & F Mixing Range (15mm) C.P. One hole/close hole basin mixer with casted spout.	Each	2	1740.00	3480.00
110	2.26.2	P & F PVC Storage Tank ISI Marked (IS: 12701) indicating the BIS license No), of approved make with cover, 25mm dia 1M long G.I. over-flow pipe & 25 Cm. long wash out pipe with plug & socket, including making connection etc., complete of approved design: 300 (-do-)	Each	3	2352.00	7056.00
111	2.26.3	P & F PVC Storage Tank ISI Marked (IS: 12701) indicating the BIS license No), of approved make with cover, 25mm dia 1M long G.I. over-flow pipe & 25 Cm. long wash out pipe with plug & socket, including making connection etc., complete of approved design: 500 (-do-)	Each	6	3920.00	23520.00
		1	Lucii		5720.00	25520.00

113 2.27.1 Hoisting Charges for each floor: For items 2.28.1 to 2.28.4 Each 6 110.00 660.0	112	2.26.5	P & F PVC Storage Tank ISI Marked (IS: 12701) indicating the BIS license No), of approved make with cover, 25mm dia 1M long G.I. over-flow pipe & 25 Cm. long wash out pipe with plug & socket, including making connection etc., complete of approved design: 1000 (-do-)	Each	1	7841.00	7841.00
114	113	2.27.1					660.00
115 2.32.1 Supply & fixing G.I. Union ISI marked in G.I. pipe line as required complete in all respect of size: 15mm dia nominal bore 2.32.2 Supply & fixing G.I. Union ISI marked in G.I. pipe line as required complete in all respect of size: 20mm dia nominal bore Each 3 140.00 420.0	114	2.27.2					
116	115	2.32.1	required complete in all respect of size : 15mm dia				303.00
117 2.32.3 Supply & fixing G.I. Union ISI marked in G.I. pipe line as required complete in all respect of size: 25mm dia nominal bore Each 3 164.00 492.0	116	2.32.2	required complete in all respect of size : 20mm dia		3	140.00	420.00
Supply & fixing G.I. Union ISI marked in G.I. pipe line as required complete in all respect of size : 32mm dia nominal bore Each 3 242.00 726.0	117	2.32.3	required complete in all respect of size : 25mm dia				492.00
19 2.33.1 Providing and fixing Superior quality (Jaguar Contiental) Cock 15 mm nominal size Each 2 748.00 1496.0	118	2.32.4	required complete in all respect of size : 32mm dia				
2.33.2 Providing and fixing Superior quality (Jaguar Contiental) CP Brass fittings complete as per direction of EI Swan neck pillar cock 15 mm nominal size Each 2 1436.00 2872.01	119	2.33.1	CP Brass fittings complete as per direction of El Pillar				1496.00
2.33.3 Providing and fixing Superior quality (Jaguar Contiental) CP Brass fittings complete as per direction of EI Bib Cock with long thread 15 mm nominal size Each 2 748.00 1496.01	120	2.33.2	CP Brass fittings complete as per direction of El Swan				2872.00
2.33.4 Providing and fixing Superior quality (Jaguar Contiental) CP Brass fittings complete as per direction of El Long body Bib Cock 15 mm nominal size Each 2 985.00 1970.00	121	2.33.3	CP Brass fittings complete as per direction of El Bib Cock		2	748.00	1496.00
2.33.5 Providing and fixing Superior quality (Jaguar Contiental) CP Brass fittings complete as per direction of EI Two way Bib Cock 15 mm nominal size Each 2 1096.00 2192.01	122	2.33.4	CP Brass fittings complete as per direction of El Long		2	985.00	1970.00
2.33.12 Providing and fixing Superior quality (Jaguar Contiental) CP Brass fittings complete as per direction of El Central hole basin mixer Each 2 2453.00 4906.00	123	2.33.5	CP Brass fittings complete as per direction of EI Two way		2	1096.00	2192.00
2.33.14 Providing and fixing Superior quality (Jaguar Contiental) CP Brass fittings complete as per direction of EI 600 mm long towel rail Each 2 1637.00 3274.00	124	2.33.12	CP Brass fittings complete as per direction of El Central	Each			4906.00
2.33.15 Providing and fixing Superior quality (Jaguar Contiental) CP Brass fittings complete as per direction of El Revolving type towel ring Each 2 1001.00 2002.00	125	2.33.14	CP Brass fittings complete as per direction of El 600 mm		2	1637.00	3274.00
127 2.33.16 Providing and fixing Superior quality (Jaguar Contiental) CP Brass fittings complete as per direction of El Soap dish 128 2.33.17 Providing and fixing Superior quality (Jaguar Contiental) CP Brass fittings complete as per direction of El Double coat hook 129 2.33.20 Providing and fixing Superior quality (Jaguar Contiental) CP Brass fittings complete as per direction of El Paper holder 130 2.33.22 Providing and fixing Superior quality (Jaguar Contiental) CP Brass fittings complete as per direction of El Paper holder 130 2.33.22 Providing and fixing Superior quality (Jaguar Contiental) CP Brass fittings complete as per direction of El Health Focet (Premium heavy Quality) as approved by Engineer-in-charge	126	2.33.15	CP Brass fittings complete as per direction of El		2	1001.00	2002.00
2.33.17 Providing and fixing Superior quality (Jaguar Contiental) CP Brass fittings complete as per direction of El Double coat hook Each 2 748.00 1496.00 129 2.33.20 Providing and fixing Superior quality (Jaguar Contiental) CP Brass fittings complete as per direction of El Paper holder Each 2 1023.00 2046.00 130 2.33.22 Providing and fixing Superior quality (Jaguar Contiental) CP Brass fittings complete as per direction of El Health Focet (Premium heavy Quality) as approved by Engineer-in-charge	127	2.33.16	CP Brass fittings complete as per direction of El Soap				1948.00
2.33.20 Providing and fixing Superior quality (Jaguar Contiental) CP Brass fittings complete as per direction of El Paper holder Each 2 1023.00 2046.00 130 2.33.22 Providing and fixing Superior quality (Jaguar Contiental) CP Brass fittings complete as per direction of El Health Focet (Premium heavy Quality) as approved by Engineer-in-charge	128	2.33.17	CP Brass fittings complete as per direction of El Double				1496.00
2.33.22 Providing and fixing Superior quality (Jaguar Contiental) CP Brass fittings complete as per direction of EI Health Focet (Premium heavy Quality) as approved by Engineer- in-charge	129	2.33.20	CP Brass fittings complete as per direction of El Paper				2046.00
	130	2.33.22	CP Brass fittings complete as per direction of El Health Focet (Premium heavy Quality) as approved by Engineer-	Each	3	950.00	2850.00

131	2.33.23	Providing and fixing Superior quality (Jaguar Contiental) CP (Premium heavy Quality) as approved by Engineer-incharge Jet Spray Brass fittings complete as per direction of El	Each	3	600.00	1800.00
132	2.34.1	Providing and fixing 3-layer PP-R (Polypropylene random coplymer) pipes SDR 7.4 UV stabilized and antimicrobial fusion welded, having thermal stability for hot & cold water supply including all PP-R plain & brass threaded Polypropylene random fittings and fixing the pipe with clamps at 1.00 spacing. This includes testing of joint complete as per direction of Engineer - in charge.(INTERNAL WORK- EXPOSED ON WALL) PN-16 Pipe, 16 mm OD	Ds	100	173.00	17300.00
133	2.34.2	Providing and fixing 3-layer PP-R (Polypropylene random coplymer) pipes SDR 7.4 UV stabilized and antimicrobial fusion welded, having thermal stability for hot & cold water supply including all PP-R plain & brass threaded Polypropylene random fittings and fixing the pipe with clamps at 1.00 spacing. This includes testing of joint complete as per direction of Engineer - in charge.(INTERNAL WORK- EXPOSED ON WALL) PN-16 Pipe, 20 mm OD	Rm	100	198.00	19800.00
134	2.34.3	Providing and fixing 3-layer PP-R (Polypropylene random coplymer) pipes SDR 7.4 UV stabilized and antimicrobial fusion welded, having thermal stability for hot & cold water supply including all PP-R plain & brass threaded Polypropylene random fittings and fixing the pipe with clamps at 1.00 spacing. This includes testing of joint complete as per direction of Engineer - in charge.(INTERNAL WORK- EXPOSED ON WALL) PN-16 Pipe, 25 mm OD	Rm	200	284.00	56800.00
135	2.34.4	Providing and fixing 3-layer PP-R (Polypropylene random coplymer) pipes SDR 7.4 UV stabilized and antimicrobial fusion welded, having thermal stability for hot & cold water supply including all PP-R plain & brass threaded Polypropylene random fittings and fixing the pipe with clamps at 1.00 spacing. This includes testing of joint complete as per direction of Engineer - in charge.(INTERNAL WORK- EXPOSED ON WALL) PN-16 Pipe, 32 mm OD	Rm	50	397.00	19850.00
136	2.35.1	Providing and fixing 3-layer PP-R (Polypropylene random coplymer) pipes SDR 7.4 UV stabilized and antimicrobial fusion welded, having thermal stability for hot & cold water supply including all PP-R plain & brass threaded Polypropylene random fittings and fixing the pipe with clamps at 1.00 spacing. This includes cost of cutting chases and making good the same including testing of joint complete as per direction of Engineer - in charge.(CONCELED WORK INCLUDING CUTTING CHASES AND MAKING GOOD THE WALL ETC.) PN-16 Pipe, 16 mm OD	Rm	50	237.00	11850.00
137	2.35.2	Providing and fixing 3-layer PP-R (Polypropylene random coplymer) pipes SDR 7.4 UV stabilized and antimicrobial fusion welded, having thermal stability for hot & cold water supply including all PP-R plain & brass threaded Polypropylene random fittings and fixing the pipe with clamps at 1.00 spacing. This includes cost of cutting chases and making good the same including testing of joint complete as per direction of Engineer - in charge.(CONCELED WORK INCLUDING CUTTING CHASES AND MAKING GOOD THE WALL ETC.) PN-16 Pipe, 20 mm OD	Rm	50	265.00	13250.00
138	2.36.1	Providing and fixing 3-layer PP-R (Polypropylene random coplymer) pipes SDR 7.4 UV stabilized and antimicrobial fusion welded, having thermal stability for hot & cold water supply including all PP-R plain & brass threaded Polypropylene random fittings including trenching, refilling and testing of joint complete as per direction of Engineer in charge. (EXTERNAL WORKS) PN-16 Pipe, 16 mm OD	Rm	50	156.00	7800.00

139	2.36.2	Providing and fixing 3-layer PP-R (Polypropylene random coplymer) pipes SDR 7.4 UV stabilized and antimicrobial fusion welded, having thermal stability for hot & cold water supply including all PP-R plain & brass threaded Polypropylene random fittings including trenching, refilling and testing of joint complete as per direction of Engineer in charge. (EXTERNAL WORKS) PN-16 Pipe, 20 mm OD	Rm	50	185.00	9250.00
140	2.36.3	Providing and fixing 3-layer PP-R (Polypropylene random coplymer) pipes SDR 7.4 UV stabilized and antimicrobial fusion welded, having thermal stability for hot & cold water supply including all PP-R plain & brass threaded Polypropylene random fittings including trenching, refilling and testing of joint complete as per direction of Engineer in charge. (EXTERNAL WORKS)PN-16 Pipe, 25 mm OD	Rm	100	262.00	26200.00
141	2.36.4	Providing and fixing 3-layer PP-R (Polypropylene random coplymer) pipes SDR 7.4 UV stabilized and antimicrobial fusion welded, having thermal stability for hot & cold water supply including all PP-R plain & brass threaded Polypropylene random fittings including trenching, refilling and testing of joint complete as per direction of Engineer in charge. (EXTERNAL WORKS) PN-16 Pipe, 32 mm OD	Rm	100	376.00	37600.00
142	2.36.5	Providing and fixing 3-layer PP-R (Polypropylene random coplymer) pipes SDR 7.4 UV stabilized and antimicrobial fusion welded, having thermal stability for hot & cold water supply including all PP-R plain & brass threaded Polypropylene random fittings including trenching, refilling and testing of joint complete as per direction of Engineer in charge. (EXTERNAL WORKS) PN-16 Pipe, 40 mm OD	Rm	10	528.00	5280.00
143	2.36.6	Providing and fixing 3-layer PP-R (Polypropylene random coplymer) pipes SDR 7.4 UV stabilized and antimicrobial fusion welded, having thermal stability for hot & cold water supply including all PP-R plain & brass threaded Polypropylene random fittings including trenching, refilling and testing of joint complete as per direction of Engineer in charge. (EXTERNAL WORKS) PN-16 Pipe, 50 mm OD	Rm	10	681.00	6810.00
144	2.37.1	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes(IS 15778 : 2007 code) having thermal stability for hot & cold water supply including all CPVC plain & brass threaded fittings i/c fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & fittings with one step CPVC solvent cement and testing of joints complete as per direction of Engineer in Charge. (Internal work Exposed on wall) 15 mm nominal size	Rm	10	191.00	1910.00
145	2.37.2	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes(IS 15778: 2007 code) having thermal stability for hot & cold water supply including all CPVC plain & brass threaded fittings i/c fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & fittings with one step CPVC solvent cement and testing of joints complete as per direction of Engineer in Charge. (Internal work Exposed on wall) 20mm nominal size	Rm	50	222.00	11100.00
146	2.37.3	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes(IS 15778: 2007 code) having thermal stability for hot & cold water supply including all CPVC plain & brass threaded fittings i/c fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & fittings with one step CPVC solvent cement and testing of joints complete as per direction of Engineer in Charge. (Internal work Exposed on wall) 25 mm nominal size	Rm	50	282.00	14100.00
147	2.37.4	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes(IS 15778: 2007 code) having thermal stability for hot & cold water supply including all CPVC plain & brass threaded fittings i/c fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & fittings with one step CPVC solvent cement and testing of joints complete as per direction of Engineer in Charge. (Internal work Exposed on wall) 32mm nominal size	Rm	25	369.00	9225.00

148	2.38.1	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes(IS 15778 : 2007 code) having thermal stability for hot & cold water supply including all CPVC plain & brass threaded fittings i/c fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & fittings with one step CPVC solvent cement and the cost of cutting chases and making good the same including testing of joints complete as per direction of Engineer in Charge. (Concealed work including cutting chases and making good the walls etc.,)15 mm nominal size	Rm	15	279.00	4185.00
149	2.38.2	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes(IS 15778: 2007 code) having thermal stability for hot & cold water supply including all CPVC plain & brass threaded fittings i/c fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & fittings with one step CPVC solvent cement and the cost of cutting chases and making good the same including testing of joints complete as per direction of Engineer in Charge. (Concealed work including cutting chases and making good the walls etc.,) 20mm nominal size	Rm	25	289.00	7225.00
150	2.38.3	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes (IS 15778: 2007 code) having thermal stability for hot & cold water supply including all CPVC plain & brass threaded fittings i/c fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & fittings with one step CPVC solvent cement and the cost of cutting chases and making good the same including testing of joints complete as per direction of Engineer in Charge. (Concealed work including cutting chases and making good the walls etc.,)25 mm nominal size	Rm	100	376.00	37600.00
151	2.39.1	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes,(IS 15778: 2007 code) having thermal stability for hot & cold water supply including all CPVC plain & brass threaded fittings, this included jointing of pipes & fittings with one step CPVC solvent cement, trenching refilling & testing of joints complete as per direction of Engineer in Charge. (External work). 15 mm nominal size	Rm	10	167.00	1670.00
152	2.39.2	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes,(IS 15778: 2007 code) having thermal stability for hot & cold water supply including all CPVC plain & brass threaded fittings, this included jointing of pipes & fittings with one step CPVC solvent cement, trenching refilling & testing of joints complete as per direction of Engineer in Charge. (External work). 20mm nominal size	Rm	50	196.00	9800.00
153	2.39.3	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes,(IS 15778: 2007 code) having thermal stability for hot & cold water supply including all CPVC plain & brass threaded fittings, this included jointing of pipes & fittings with one step CPVC solvent cement, trenching refilling & testing of joints complete as per direction of Engineer in Charge. (External work). 25 mm nominal size	Rm	100	262.00	26200.00
154	2.39.4	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes,(IS 15778: 2007 code) having thermal stability for hot & cold water supply including all CPVC plain & brass threaded fittings, this included jointing of pipes & fittings with one step CPVC solvent cement, trenching refilling & testing of joints complete as per direction of Engineer in Charge. (External work). 32mm nominal outer dia pipes	Rm	20	343.00	6860.00
155	2.39.5	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes,(IS 15778: 2007 code) having thermal stability for hot & cold water supply including all CPVC plain & brass threaded fittings, this included jointing of pipes & fittings with one step CPVC solvent cement, trenching refilling & testing of joints complete as per direction of Engineer in Charge. (External work). 40 mm nominal size	Rm	10	471.00	4710.00

156	2.39.6	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes,(IS 15778: 2007 code) having thermal stability for hot & cold water supply including all CPVC plain & brass threaded fittings, this included jointing of pipes & fittings with one step CPVC solvent cement, trenching refilling & testing of joints complete as per direction of Engineer in Charge. (External work). 50 mm nominal size	Rm	10	757.00	7570.00
157	2.41	Labour Charges for Removing & Refixing the water Storage Tank of all sizes and including all Necessary fitting complete in all respect as per approved sample and direction of engineer in charge.	Each	6	369.00	2214.00
158	2.42	Providing and fixing premium quality Angular stop cock with wall flange complete as per sample approved by Engineer in charge	Each	2	1572.00	3144.00
159	2.43	Providing and fixing premium quality Two way Bib cock with wall flange complete as per sample approved by Engineer in charge	Each	3	2335.00	7005.00
160	2.44.1	Providing and fixing superior quality PVC Tank Cover complete as per approved by Engineer In Charge 300 Lt. capacity Rate analysis for 1 No.	Each	6	186.00	1116.00
161	2.44.2	Providing and fixing superior quality PVC Tank Cover complete as per approved by Engineer In Charge 500 Lt. capacity Rate analysis for 1 No.	Each	24	201.00	4824.00
162	2.44.3	Providing and fixing superior quality PVC Tank Cover complete as per approved by Engineer In Charge Above 500 Lt. capacity Rate analysis for 1 No.				
163	2.45	Providing & fixing C.I. Saddle pieces 100mm dia with nut & bolt & washer & Rubber Gasket complete as per direction of engineer in charge	Each	24	196.00	5184.00
164	2.46	Supply and installation of Premium quality sluice valve 100mm dia including all fittings as per approved by Engineer in charge.	Each Each	1	5042.00	5042.00
165	2.47	Providing Laying Jointing DI Pipe (Ductile iron pipe) of 100 mm dia ISI marked K-7 grade as per IS: 5329-2000 with internal cement mortar lining for potable water with rubber ring (EPDM/ SBR) Joints per IS: 5382-1985 complete including Hydraulic testing & commissioning as per Technical Specification.		10	1088.00	10880.00
166	2.48.1	P&F sluice valve of approved code IS 14846 : 2000 make 100 mm dia nominal bore	Mtr	10	1088.00	10880.00
167	2.48.2	P&F sluice valve of approved code IS 14846 : 2000 make	Each	1	10175.00	10175.00
167	2.40.2	75 mm dia nominal bore	Each	1	9625.00	9625.00
168	3.5.1	P & F Square-mouth gully trap 'A' grade (IS 651-1992 :marked) of approved make complete with C.I. grating, frame & Cover masonary chamber in C.M. 1:6, 100mm thick C.C. 1:5:10 base concrete, 40mm thick C.C.M-15 grade coping, 12mm thick cement plaster in CM 1:3 complete as per approved design & type. Trap size 150 X 100mm, ferrow cement cover with frame, Internal Chamber size 300 X 300mm.	Each	2	1150.00	2300.00
169	3.7.1	LABOUR charges for Removing S.W. pipes including breaking of joints & bed concrete, stacking of useful MATERIAL at site within 50 mtr. Lead and disposal of unserviceable MATERIAL within 0.5 Km. lead: 100 & 150mm dia pipe	Mtr.	10	23.00	230.00
170	3.8.2	Providing, Laying & Jointing R.C.C. class NP-2 Non-Pressure pipes (IS: 458mark) of approved make with collars, jointed with C.M. 1:2 or having Spigot and socket ends with flexible rubber rings joint including testing of joints etc. complete: 150mm dia Internal		- 10		22 3.00
			Mtr.	2	600.00	1200.00

171	3.8.5	Providing, Laying & Jointing R.C.C. class NP-2 Non-Pressure pipes (IS: 458mark) of approved make with collars, jointed with C.M. 1:2 or having Spigot and socket ends with flexible rubber rings joint including testing of joints etc. complete: 300mm dia Internal	Mtr.	15	991.00	14865.00
172	3.9.3	P & F Sand-cast Iron (S.C.I.) Pipe (IS: 1729mark) of approved make in wall or in floor with M.S. holder bat clamps in 10 X 10 X 10 Cm. M-15 grade concrete blocks, joints filled with CM 1:4 with spun yarn including cutting holes and making good the wall: 100mm dia	Mtr.	10	1228.00	12280.00
173	3.10.2	Add extra for Lead caulked joints (IS:782-1978) in sand cast iron pipes/spun- 100mm dia, 0.98 Kg. Pig lead	Each	5	349.00	1745.00
174	3.14	LABOUR charges for making connection of sewer line through main hole.	Each	10	649.00	6490.00
175	3.16.2	P&F rigid PVC Pipe (IS:4985 mark) class II/ (4 Kg. /Cm2.) approved quality /make including joining the pipe with solvent cement rubber ring and lubricant. 75 mm dia	Mtr	50	177.00	8850.00
176	3.16.5.1	P&F rigid PVC Pipe (IS:4985 mark) class II/ (4 Kg. /Cm2.) approved quality /make including joining the pipe with solvent cement rubber ring and lubricant. Providing & Laying C.C. 1:3:6 (Stone Agreegate 20mm nominal size) all around PVC Pipe including 7.5 cm thick bed concerte [Width & Height = Dia of Pipe in CM+15CM] excluding cost of Pipe & Excavation of trenches etc. PVC pipe 110 mm dia	Mtr	10	325.00	3250.00
177	3.16.5.2	P&F rigid PVC Pipe (IS:4985 mark) class II/ (4 Kg. /Cm2.) approved quality /make including joining the pipe with solvent cement rubber ring and lubricant. Providing & Laying C.C. 1:3:6 (Stone Agreegate 20mm nominal size) all around PVC Pipe including 7.5 cm thick bed concerte [Width & Height = Dia of Pipe in CM+15CM] excluding cost of Pipe & Excavation of trenches etc. PVC pipe 160 mm dia	Mtr	50	425.00	21250.00
178	3.17.1	P&F rigid PVC Pipe (IS:4985 mark) class II/ (4 Kg. /Cm2.) approved quality /make including joining the pipe with solvent cement rubber ring and lubricant. 63 mm dia	Mtr	15	87.00	1305.00
	(i)	75mm dia	Each	6	90.00	540.00
	(ii)	110mm dia	Each	12	97.00	1164.00
	(iii)	160 mm dia		6	114.00	684.00
179	3.17.3	P&F rigid PVC Pipe (IS:4985 mark) class II/ (4 Kg. /Cm2.) approved quality /make including joining the pipe with solvent cement rubber ring and lubricant. Plain Tee	Each	0	114.00	004.00
	(i)	75mm dia	Each	3	114.00	342.00
	(ii)	110mm dia	Each	12	187.00	2244.00
	(iii)	160 mm dia	Each	1	205.00	205.00
180	3.17.4	P&F rigid PVC Pipe (IS:4985 mark) class II/ (4 Kg. /Cm2.) approved quality /make including joining the pipe with solvent cement rubber ring and lubricant. Door Tee		<u> </u>		
	(ii)	110mm dia	Each	1	213.00	213.00
181	3.17.8	P&F rigid PVC Pipe (IS:4985 mark) class II/ (4 Kg. /Cm2.) approved quality /make including joining the pipe with solvent cement rubber ring and lubricant. Bend 45				
	(ii)	110mm dia	Each	12	128.00	1536.00

182	approved quality /make including joining the pipe with solvent cement rubber ring and lubricant. Bend 87.5					
	(i)	75mm dia	Each	6	97.00	582.00
	(ii)	110mm dia	Each	30	161.00	4830.00
	(iii)	160 mm dia	Each	2	177.00	354.00
183	3.17.10	P&F rigid PVC Pipe (IS:4985 mark) class II/ (4 Kg. /Cm2.) approved quality /make including joining the pipe with solvent cement rubber ring and lubricant. Door Bend (Top Side)				
	(ii)	110mm dia	Each	6	154.00	924.00
184	3.17.13	P&F rigid PVC Pipe (IS:4985 mark) class II/ (4 Kg. /Cm2.) approved quality /make including joining the pipe with solvent cement rubber ring and lubricant. Socket plug	20.0	·		72.000
	(i)	75mm dia	Each	2	68.00	136.00
	(ii)	110mm dia	Each	2	81.00	162.00
	(iii)	160 mm dia	Each	2	101.00	202.00
185	3.17.15	P&F rigid PVC Pipe (IS:4985 mark) class II/ (4 Kg. /Cm2.) approved quality /make including joining the pipe with solvent cement rubber ring and lubricant. Pipe Clip	Lacii		101.00	202.00
	(i)	75mm dia	Each	6	24.00	144.00
	(ii)	110mm dia	Each	25	36.00	900.00
186	3.17.23	P&F rigid PVC Pipe (IS:4985 mark) class II/ (4 Kg. /Cm2.) approved quality /make including joining the pipe with solvent cement rubber ring and lubricant. P- Trap 110mm dia	Each	2	382.00	764.00
187	3.17.24	P&F rigid PVC Pipe (IS:4985 mark) class II/ (4 Kg. /Cm2.) approved quality /make including joining the pipe with solvent cement rubber ring and lubricant. Q- Trap 110mm dia	Each	2	428.00	856.00
188	3.18.1	Raising manhole cover and frames slab to required level including dismantling existing slab and making good the damage as required (raising depth of manhole masonry to be paid separately). Rectangular manhole 90x60 cm	Each	3	972.00	2916.00
189	3.19.1	Construction of manhole in all type of soil inner size 90 X 60 Cm. 300 mm thick masonry in CM 1:6, 10 Cm. thick cement concrete 1:5 10 in foundation, 20 mm thick inside plaster in CM 1:6, finished with floating neat cement, 50mm thick M-15 grade C.C. flooring, making channels, 80mm thick stone slab covering with 40mm thick M-15 grade C.C. flooring, Cement cover with frame of 450mm dia, earthwork etc. complete as per design including disposal of surplus earth within 50 mtr. lead.Depth up to 0.5 M	Each	5	5489.00	27445.00
190	3.19.3	Construction of manhole in all type of soil inner size 90 X 60 Cm. 300 mm thick masonry in CM 1:6, 10 Cm. thick cement concrete 1:5 10 in foundation, 20 mm thick inside plaster in CM 1:6, finished with floating neat cement, 50mm thick M-15 grade C.C. flooring, making channels, 80mm thick stone slab covering with 40mm thick M-15 grade C.C. flooring, Cement cover with frame of 450mm dia, earthwork etc. complete as per design including disposal of surplus earth within 50 mtr. lead.Deduct in Item No 3.20.1 for manhole with brick work 230 mm thick in place of 300 mm thick stone masonry	Each	2	1042.00	2084.00

191	3.20.1	Construction of Man hole, in all types of soil, inner size 1.5 x 1.2 M, with 450mm thick masonry in CM 1:6, 10 Cm. thick cement concrete 1:5:10 in foundation, 20mm thick inside plaster in CM 1:6, finished with floating neat cement, 50 mm thick M-15 grade C.C. flooring making channels, 80 mm thick stone slab covering with 40 mm thick M-15 grade C.C. flooring, Ferro Cement cover with frame of 450mm dia, earthwork etc. complete including disposal of surplus earth within 50 mtr. lead as per design: Depth up to 1.5 M			2001 6 00	40022.00
192	3.20.2	Construction of Man hole, in all types of soil, inner size 1.5 x 1.2 M, with 450mm thick masonry in CM 1:6, 10 Cm. thick cement concrete 1:5:10 in foundation, 20mm thick inside plaster in CM 1:6, finished with floating neat cement, 50 mm thick M-15 grade C.C. flooring making channels, 80 mm thick stone slab covering with 40 mm thick M-15 grade C.C. flooring, Ferro Cement cover with frame of 450mm dia, earthwork etc. complete including disposal of surplus earth within 50 mtr. lead as per design :Add extra over item 3.22.1 for every additional 0.10m depth above 1.5 m depth .	Each	6	703.00	4218.00
193	3.21.1	Construction of chamber in all type of soil with 300 mm thick masonry in CM 1:6 m 10 cm thick C.C. 1:5:10 in foundation, 20mm thick insider plaster in Cm 1:6, finished with floating neat cement, 50mm thick M-15 grade C.C. flooring, earthwork etc. complete as per design including disposal of surplus earth within a lead of 50 mtr. Inside size 300 X 300 mm depth upto 0.5 M Cement cover with frame.	Each	12	1049.00	12588.00
194	3.21.2	Construction of chamber in all type of soil with 300 mm thick masonry in CM 1:6 m 10 cm thick C.C. 1:5:10 in foundation, 20mm thick insider plaster in Cm 1:6, finished with floating neat cement, 50mm thick M-15 grade C.C. flooring, earthwork etc. complete as per design including disposal of surplus earth within a lead of 50 mtr. size 450 x 450mm depth upto 0.5 M Cement cover with frame	Each	10	2332.00	23320.00
195	3.21.3	Construction of chamber in all type of soil with 300 mm thick masonry in CM 1:6 m 10 cm thick C.C. 1:5:10 in foundation, 20mm thick insider plaster in Cm 1:6, finished with floating neat cement, 50mm thick M-15 grade C.C. flooring , earthwork etc. complete as per design including disposal of surplus earth within a lead of 50 mtr. size 600 x 450mm depth upto 0.5 M Cement cover with frame.	Each	10	3299.00	32990.00
196	3.22.1	Construction of soakage well in all type of soil with 300 mm thick dry masonry, top and bottom 300 mm course in CM 1:6, 80mm thick stone slab, jointing of slab in CM 1:3, Ralthal, Kharanja, 40 mm thick M-15 grade C.C flooring, earthwork complete as per approved drawing including disposal of earth within a lead of 50 mtr.: Size 300 Cm. dia outside & 300 Cm. depth.	Each	1	24135.00	24135.00
197	3.23.1	Construction of soakage Trench in all types of soil with 300 mm thick dry stone masonry, 80 mm thick stone slab covering, jointing of slab in CM 1:3 Ralthal, Kharanja, 40 mm thick M-15grade C.C. flooring earthwork etc. complete as per approved drawing including disposal of earth within a lead of 50 Mtr.: Top width 180Cm., bottom width 90Cm. & depth 240Cm.	Mtr.	25	6149.00	153725.00
198	3.27.1	Construction of septic Tank in all types of soil with 40 Cm .thick masonry in CM 1:6, 15 Cm thick C.C bed of 1:5:10, M-15 grade C.C floor & RCC slab covering with M15 grade c.c. floor, 50 mm thick stone slab partition walls, 20 mm thick plaster in CM 1:6 finished with neat floating cement, 4 Nos stone foot rests of approved design ,two No. 450 mm dia each Ferro cement cover with frame, earth work etc. complete as per approved drawing including disposal of surplus earth within a lead of 50 mtr:-Size 200x100x130 cm.(for 10 users)	Each	1	27322.00	27322.00

Size 230 x110 x150 cm.(for 20 users) Each 3 200 3.27.3 Construction of septic Tank in all types of soil with 40 Cm		115497.00
thick masonry in CM 1:6, 15 Cm thick C.C bed of 1:5:10, M-15 grade C.C floor & RCC slab covering with M15 grade c.c. floor, 50 mm thick stone slab partition walls, 20 mm thick plaster in CM 1:6 finished with neat floating cement, 4 Nos stone foot rests of approved design ,two No. 450 mm dia each Ferro cement cover with frame, earth work etc. complete as per approved drawing including disposal of surplus earth within a lead of 50 mtr:-Size 400 x140x150 cm.(for 50 users)	59860.00	0.00
201 3.28 Emptying of Septic tank ,Soakage well etc. by disposing or sludge upto 5 Km. lead & taking out sewage including cleaning of site. Cum 25	286.00	7150.00
202 3.31 Supplying and fixing C.I. Cover with frame, C.I. gratings for chambers & man holes. Kg. 10	72.00	720.00
203 3.33.2 Supplying & Fixing R.C.C. Manholes covers with frame of approved make (Light duty). Size 450mm dia Each 1	292.00	292.00
204 3.33.5 Supplying & Fixing R.C.C. Manholes covers with frame of approved make (Light duty). Size 600 X 450mm Each 1	421.00	421.00
205 3.33.6 Supplying & Fixing R.C.C. Manholes covers with frame of approved make (Light duty).Size 450 X 450mm Each 1	319.00	319.00
206 3.33.7 Supplying & Fixing R.C.C. Manholes covers with frame of approved make (Light duty).Size 300 X 300mm Each 1	99.00	99.00
207 3.39.1 Construction of Cement Concrete Chamber 125mm dia on depressed floor upto 45cm height from floor with : C.P. Brass grating Each 1	237.00	237.00
208 3.39.2 Construction of Cement Concrete Chamber 125mm dia on depressed floor upto 45cm height from floor with : C.P. doom grating	263.00	263.00
209 3.39.3 Construction of Cement Concrete Chamber 125mm dia on depressed floor upto 45cm height from floor with : C.I. Grating Each 1	218.00	218.00
210 3.39.4 Stainless Steel Sheet Grating Each 1	237.00	237.00
211 3.44.1 Providing and Fixing Unplasticized Poly Vinyl Chloride (UPVC) SWR Pipes Type B for sciland waste discharge system (IS:13592 : 1992 Marked) of approved quality /make 75 mm dia Mtr. 25	167.00	4175.00
212 3.44.2 Providing and Fixing Unplasticized Poly Vinyl Chloride (UPVC) SWR Pipes Type B for sciland waste discharge system (IS:13592 : 1992 Marked) of approved quality /make 110 mm dia Mtr. 100	336.00	33600.00
213 3.45.1 Providing and Fixing Unplasticized Poly Vinyl Chloride (UPVC) SWR Pipes fittings type B for sciland waste discharge system (IS:13592 : 1992 Marked) of approved quality /make Coupler		
(i) 75mm dia Each 10	72.00	720.00
(ii) 110mm dia Each 12	108.00	1296.00
214 3.45.2 Providing and Fixing Unplasticized Poly Vinyl Chloride (UPVC) SWR Pipes fittings type B for sciland waste discharge system (IS:13592 : 1992 Marked) of approved quality /make Repair Coupler		

	(i)	75mm dia				
	(ii)	110mm dia	Each	6	76.00	456.00
215	3.45.3	Providing and Fixing Unplasticized Poly Vinyl Chloride (UPVC) SWR Pipes fittings type B for sciland waste discharge system (IS:13592 : 1992 Marked) of approved quality /make Single Push Fit Coupler	Each	12	124.00	1488.00
	(i)	75mm dia	Each	6	73.00	438.00
	(ii)	110mm dia	Each	12	127.00	1524.00
216	3.45.4	Providing and Fixing Unplasticized Poly Vinyl Chloride (UPVC) SWR Pipes fittings type B for sciland waste discharge system (IS:13592: 1992 Marked) of approved quality /make Bend 87.5 Dg.	Lacii	12	127.00	1321.00
	(i)	75mm dia	Each	6	94.00	564.00
	(ii)	110mm dia	Each	15	155.00	2325.00
217	3.45.5	Providing and Fixing Unplasticized Poly Vinyl Chloride (UPVC) SWR Pipes fittings type B for sciland waste discharge system (IS:13592: 1992 Marked) of approved quality /make Bend 45 Dg.	Luon		133.00	2320.00
	(i)	75mm dia	Each	3	78.00	234.00
	(ii)	110mm dia	Each	12	132.00	1584.00
218	3.45.6	Providing and Fixing Unplasticized Poly Vinyl Chloride (UPVC) SWR Pipes fittings type B for sciland waste discharge system (IS:13592 : 1992 Marked) of approved quality /make Door Bend 87.5 Dg.	Lacii	12	132.00	1301.00
	(ii)	110mm dia	Each	3	193.00	579.00
219	3.45.11	Providing and Fixing Unplasticized Poly Vinyl Chloride (UPVC) SWR Pipes fittings type B for sciland waste discharge system (IS:13592 : 1992 Marked) of approved quality /make Socket Plug	Lacii		133.00	377.00
	(i)	75mm dia	Each	3	62.00	186.00
	(ii)	110mm dia				
220	3.45.12	Providing and Fixing Unplasticized Poly Vinyl Chloride (UPVC) SWR Pipes fittings type B for sciland waste discharge system (IS:13592 : 1992 Marked) of approved quality /make Pipe Clip	Each	3	76.00	228.00
	(i)	75mm dia	Each	5	18.00	90.00
	(ii)	110mm dia	Each	25	31.00	775.00
221	3.45.13	Providing and Fixing Unplasticized Poly Vinyl Chloride (UPVC) SWR Pipes fittings type B for sciland waste discharge system (IS:13592: 1992 Marked) of approved quality /make Double tee with Door	Edon		31.00	7,0.00
	(i)	75mm dia	Each	3	334.00	1002.00
	(ii)	110mm dia	Each	3	572.00	1716.00
223	3.45.14	Providing and Fixing Unplasticized Poly Vinyl Chloride (UPVC) SWR Pipes fittings type B for sciland waste discharge system (IS:13592 : 1992 Marked) of approved quality /make W.C. Connector 110mm dia	Each	2	216.00	432.00
224	3.45.15	Providing and Fixing Unplasticized Poly Vinyl Chloride (UPVC) SWR Pipes fittings type B for sciland waste discharge system (IS:13592 : 1992 Marked) of approved quality /make W.C. Connector (Bend) with ring 110mm dia		8		
		quanty mand mo. Someotor (Bond) with might form the	Each	0	226.00	1808.00

225	3.45.16	Providing and Fixing Unplasticized Poly Vinyl Chloride (UPVC) SWR Pipes fittings type B for sciland waste discharge system (IS:13592 : 1992 Marked) of approved quality /make Single Tee				
	(i)	75mm dia	Each	3	120.00	360.00
	(ii)	110mm dia	Each	6	210.00	1260.00
226	3.45.17	Providing and Fixing Unplasticized Poly Vinyl Chloride (UPVC) SWR Pipes fittings type B for sciland waste discharge system (IS:13592: 1992 Marked) of approved quality /make Single Tee with Door	Lacii	0	210.00	1200.00
	(i)	75mm dia	Each	3	136.00	408.00
	(ii)	110mm dia		3	242.00	726.00
227	3.45.18	Providing and Fixing Unplasticized Poly Vinyl Chloride (UPVC) SWR Pipes fittings type B for sciland waste discharge system (IS:13592 : 1992 Marked) of approved quality / make Double Tee (4 Ways)	Each	3	242.00	720.00
	(i)	75mm dia	Each	1	212.00	212.00
	(ii)	110mm dia				
228	3.45.19	Providing and Fixing Unplasticized Poly Vinyl Chloride (UPVC) SWR Pipes fittings type B for sciland waste discharge system (IS:13592 : 1992 Marked) of approved quality /make Multi floor trap 110mm dia	Each	1	367.00	367.00
229	3.45.20	Providing and Fixing Unplasticized Poly Vinyl Chloride	Each	1	241.00	241.00
229		(UPVC) SWR Pipes fittings type B for sciland waste discharge system (IS:13592 : 1992 Marked) of approved quality /make Offset 110mm dia	Each	6	282.00	1692.00
230	3.45.21	Providing and Fixing Unplasticized Poly Vinyl Chloride (UPVC) SWR Pipes fittings type B for sciland waste discharge system (IS:13592 : 1992 Marked) of approved quality /make Extra Square Jali 110mm dia	Fach	3	37.00	111.00
231	3.45.22	Providing and Fixing Unplasticized Poly Vinyl Chloride (UPVC) SWR Pipes fittings type B for sciland waste discharge system (IS:13592 : 1992 Marked) of approved quality /make Extra Round Jali 110mm dia	Each			
232	3.45.23	Providing and Fixing Unplasticized Poly Vinyl Chloride (UPVC) SWR Pipes fittings type B for sciland waste discharge system (IS:13592 : 1992 Marked) of approved quality /make Extra 4 SWR Ring	Each	3	26.00	78.00
	(i)	75mm dia	Foob	3	14.00	42.00
	(ii)	110mm dia	Each			
233	3.45.24	Providing and Fixing Unplasticized Poly Vinyl Chloride (UPVC) SWR Pipes fittings type B for sciland waste discharge system (IS:13592 : 1992 Marked) of approved quality /make Gully Trap 110mm dia	Each Each	1	17.00 685.00	51.00
234	3.45.25	Providing and Fixing Unplasticized Poly Vinyl Chloride (UPVC) SWR Pipes fittings type B for sciland waste discharge system (IS:13592: 1992 Marked) of approved quality /make Nahni Trap with Jali 4" 110mm dia	Each	6	171.00	1026.00
235	3.45.29	Providing and Fixing Unplasticized Poly Vinyl Chloride (UPVC) SWR Pipes fittings type B for sciland waste discharge system (IS:13592 : 1992 Marked) of approved quality /make Vent Cowel 75 mm	Each	2	48.00	96.00
236	3.45.30	Providing and Fixing Unplasticized Poly Vinyl Chloride (UPVC) SWR Pipes fittings type B for sciland waste discharge system (IS:13592 : 1992 Marked) of approved quality /make Vent Cowel 110mm dia	Each	3	59.00	177.00

237	3.48	Cleaning of sewer line of various sizes as per requirement at site of different sizes including 100mm,150mm & 225mm dia of Stoneware pipe as per direction of Engineer-in-Charge.	Rmt	25	117.00	2925.00
238	3.49	Cleaning of C.I. Pipe Line of various sizse as per requirement at site of different sizes including 100mm,150mm & 225mm dia of C.I.Pipes as per direction of Engineer-in-Charge.	Rmt	20	73.00	1460.00
239	3.50.	Repairing of Cement Concrete Chambers of different size as per requirement at site and as per direction of Engineer-in-charge.	Each	10	61.00	610.00
240	3.53	Mechanised Cleaning of sewer line of diameter upto 200mm with the help of trolley mounted electrical driven machine having flexible steel springs of length 20ft. Each which are rotated with the help of electric motor and clutch assembly.	mtr	20	154.00	3080.00
241	3.54	Mechanised sewer line Cleaning upto diameter 100mm with the help of PU coated glass fibre rod mounted on a wheel with brush attachment.	mtr	3	107.00	321.00
242	3.55.1	Mechanised Cleaning and desilting of manhole/sewer line chambers With the help of mechanical bucket which gets open and close through levers. depth upto 0.5 mtr.	Each	3	98.00	294.00
243	3.55.2	Mechanised Cleaning and desilting of manhole/sewer line chambers With the help of mechanical bucket which gets open and close through levers. Depth upto 1.0 mtr.	Each	2	182.00	364.00
244	3.55.3	Mechanised Cleaning and desilting of manhole/sewer line chambers With the help of mechanical bucket which gets open and close through levers. Depth upto 2.0 mtr.	Each	3	339.00	1017.00
245	3.57	P&F circular air tight composite resin (FRP) manhole cover without frame of approved brand with grade designation C-250 HD as per EN-124 standard. Manhole cover shall have top absistant layer conforming to IS-15658: 2006 and permissible of 2/3 test load in five continous application as per EN- 124, the testing shall be performed in test (2% of lot size) as per testing procedure state in EN-124 standard including fixing in existing manhole frame etc. complete in all respect as directed by engineer in charge.				
	(i)	Internal dia 0.56m	Each	1	11679.00	11679.00
		Total Rs.				1998796.00

Terms & Conditions :-

- 1- Conditional Tender shall not be accepted.
- 2- The Rates are based on PWD BSR for Building works-2022.
- 3- In case of any typographical error or mistake in print the above B.S.R. shall be binding and final.

O.I.C (ESTATE)

<u>Note :-</u> Strike out below, above or at par whichever is not applicable. If the same is not done, the lower offer will be considered for acceptance.

PART-B (H-SCHEDULE)

S.No.	Item	Qty	Unit	Rate to be quoted by contractor	Amount
1	Operation, repairs &MAINTENANCE (involving labour only)of existing external &internal sanitary and water supply system for various buildings of the entire university campus etc. except providing &fixing of material, which shall be paid separately as per boq -1. The scope of work includes following				
	1. Operation of Existing external &internal water supply system for various buildings of the entire university campus through out the year like filling of PVC WATER tanks placed over terrace of buildings & under ground water tanks to give uninterupted daily water supply to the buildings &outside buildings for gardening work. Also operation of tube well as and when required by the University.				
	Including repairs which are not requiring any involvement of material like repair of loose connections, pipe line air problems & other works as per direction of engineer incharge.				
	3. All repair included in the item . All such expenses will be borne by the Contractor at his own cost.				
	4.Contractor shall arrange at his cost to regulate water supply on day to day basis regularly as per instructions of Engineer-In charge. A register shall be maintained at University office and complaint lodged must be attended by contractor within 24 hours, The person deputed by contractor shall attend the University office daily and comply the instructions and attend complaints regularly.				
	5.University shall not be responsible for any kind of accident during execution of work.				
	6.Contractor will be responsible are arrangement of all T&P required for the work.	12	Per Month		
	Total Rs.				

I / We agree to execute the above work at rates quoted above. Quoted rates shall be in conjunction of enclosed special terms & conditions, agreement and annexure A to D and these will be part of agreement & quoted rates shall be inclusive of GST and other applicable taxes by the Govt. Conditional tenders will not be accepted.

Signature of Contractor

Annexure -A

Compliance with the code of integrity and no conflict of interest

Any person participating in a procurement process shall-

- (a) Not offer any bribe, reward or gift or any material benefit either directly or indirectly in exchange for an unfair advantage in procurement process or to otherwise influence the procurement process.
- (b) Not misrepresent or omit that misleads or attempts to mislead so as to obtain a financial or other benefit or avoid an obligation.
- (c) Not indulge in any collusion, Bid rigging or anti-competitive behavior to impair the transparency, fairness, and progress of the procurement process.
- (d) Not misuse any information shared between the procuring entity and the Bidders with intent to gain unfair advantage in the procurement process.
- (e) Not indulge in any correction including impairing or threatening to do the same, directly or indirectly, to any party or to its property to influence the procurement process.
- (f) Not obstruct any investigation or audit of a procurement process.
- (g) Disclose conflict of interest, if any, and
- (h) Disclose any previous transgressions with any entity in India or any other country during the last three years or any debarment by any other procuring entity.

Conflict of Interest:-

The Bidder participating in a bidding process must have a conflict of interest.

A Conflict of interest is considered to be a situation in which a party has interests that could improperly influence that party's performance of official duties or responsibilities, contractual obligation, or compliance with applicable laws and regulations.

A Bidder may be considered to be in conflict of interest with one or more parties in a bidding process if, including but not limited to:

- a. Have Controlling partners/shareholders in common; or
- b. Receive or have received any direct or indirect subsidy from any of them; or
- c. Have the same legal representative fro purpose of the bid; or
- d. Have the relationship with each other, directly or through common third parties, that puts them in a position to have access have to information about or influence on the bid of another Bidder, or influence the decision of the procuring entity the bidding process; or
- e. The Bidder participates in more than one bid in a bidding process. Participation by a Bidder in more than one bid will result in the disqualification of all Bids in which the Bidder is involved. However this does not limit the inclusion of the same subcontractor, not otherwise participating as Bidder, in more than one Bid; or
- f. The Bidder or any of its affiliates participated as a consultant in the preparation of the design or technical Specification of the goods, works or service that are the subject of the Bid; or
- g. Bidder or any of its affiliates has been hired (or is proposed to be hired) by the procuring entity as engineer-in-charge /consultant for the contract.

Place :			
Date			

Signature of the Bidder with seal

Annexure –B

Declaration by the Bidder regarding qualifications

In relation to my/our Bid submitted to UOK for procurement of "Annual Rate contract for Repair & maintenance work of Sanitary system and water supply system of University campus at Vardhman Mahaveer Open University, Kota." in response to their Notice Inviting Bid No. 17 /2024-25. I/We hereby declare under section 7 of Rajasthan Transp rency in Public Procurement Act, 2012, that:

- 1. I/We possess the necessary professional, technical, financial and managerial resources and competence required by the Biding Document issued by the Procuring Entity;
- 2. I/We have fulfilled my/our obligation to pay such of the taxes payable to the union and the State Government or any local authority as specification in the Bidding Document;
- 3. I/We have are not insolvent in receivership, bankrupt or being wound up, not have my/our affairs administrated by a court or a judicial officer, not have my/our business activities suspended and not the subject of legal proceeding for any of the foregoing reasons;
- 4. I/We do not have, and our directions and officers not have, been convicted of any criminal offence related to my/our professional conducted or the making of false statement or misrepresentations as to my/our qualifications to enter into a procurement contract within a period of three years preceding the commencement of this procurement process, or not have been otherwise disqualified pursuant to debarment proceeding;
- 5. I/We do not have a conflict of interest as specification in the Act, Rules and the bidding document, which material affects fair competition;

Date:	
Place:	
	Signature of bidder with seal

Grievance Redressal during procurement process

The designation and the address of the first appellate authority is Hon'ble V.C. VMOU, Kota.

The designation and the address of second Appellate Authority is Additional Chief Secretary (Higher Education, Govt. Rajasthan)

(1) Filing an appeal

If any bidder or prospective bidder is aggrieved that any decision, action or omission of the Procuring Entity is in contravention to the provisions of the act or the rules or the Guidelines issued there under, he may file an appeal to first Appellate Authority, as specified in the Bidding Document within a period of ten days from the date of such decision or action, omission, as the case may be, clearly giving the specific ground or grounds on which he feels aggrieved:

Providing that after the declaration of a bidder as successful the appeal may be filled only by a bidder who has participated in procurement proceeding:

Providing further that in case a Procuring Entity evaluates the Technical Bids before the opening of the Financial Bids, an appeal related to the matter of Financial Bids may be filled only by a Bidder whose Technical Bid id found to be acceptable.

- (2) The officer to whom an appeal is filled under para (1) shall deal with the appeal as expeditiously as possible and shall endeavourer to dispose it of within thirty days from the date of the appeal.
- (3) If the officer designated under para (1) fails to dispose of the appeal filed within the period specified in para (2), or if the Bidder or prospective bidder or the Procuring Entity is aggrieved by the order passed by the Procuring Entity, as the case may be, may file a second appeal to second Appellate Authority specified in the Bidder Document in this behalf within fifteen days from the expiry of the period specified in para (2) or of the date of receipt of the order passed by the first Appellate Authority, as the case may be.

(4) Appeal not to lie in certain cases

No appeal shall lie against any decision of the Procuring Entity relating to the following matters, namely:-

- (a) Determination of need of Procurement
- (b) Provisions limiting participating of Bidders in the Bid process;
- (c) The decision of whether or not to enter into negotiations;
- (d) Cancellation of a procurement process;
- (e) Applicability of the provisions of confidentiality

(5) Form of appeal

- (a) An appeal under para (1) or (3) above shall be in the annexed form along with as many copies as there are respondents in the appeal.
- (b) Every appeal shall be accompanied by an order appealed against, if any, affidavit verifying the facts stated in the appeal and proof of payments of fee.
- (c) Every appeal may be presented to first Appellate Authority or Second Appellate Authority, as the case may be, in person or through registered post or authorized representative.

(6) Fee for Filling Appeal

- (a) Fee for first appeal shall be two thousand five hundred and for second appeal shall be rupees ten thousand, which shall be non refundable.
- (b) The fee shall be paid in the form of bank demand draft or banker's cheque of a Scheduled Bank in India payable in the name of Appellate Authority concerned.

(7) Procedure for disposal of appeal

- (a) The first Appellate Authority or Second Appellate, as the case may be upon filing of appeal, shall issued notice accompanied by copy of appeal, affidavit and documents, if any, to the respondents and fix date of hearing.
- (b) On the date of fix hearing, the First Appellate Authority or second Appellate Authority, as the case may be-
 - (i) Hear all the parties to appeal present before him; and
 - (ii) Peruse or inspect documents, relevant records or copies thereof relating th the matter
- (c) After hearing the parties, perusal or inspection of documents and relevant records or copies thereof relating to the matter, the Appellate Authority concerned shall pass an order in writing and provide the copy of order to the parties to appeal free of cost.
- (d) The order passed under sub-clause (c) above shall also be placed on the State Public Procurement Portal.

Signature of the Bidder with seal

Additional conditions of contract

1. Correction of arithmetical errors

Provided that a Financial Bid is substantially responsive, that Procuring Entity will correct arithmetical errors during evaluation of Financial Bids on the following basis:

- (i) If there is a discrepancy between the unit price and the total price that is obtained by multiplying the unit price and quality, the unit price shall prevail and the total price shall be corrected, unless in the opinion in the Procuring Entity there is an obvious misplacement of the decimal point in the unit price, in which case the total price as quoted shall govern and the unit price shall be corrected;
- (ii) If there is a error in a total corresponding to the addition or subtraction of subtotals, the subtotals shall prevail and the total shall be corrected; and
- (iii) If there is a discrepancy between words and figures, the amount in words shall prevail, unless the amount in figures shall prevail subject to (i) and (ii) above.
 - If the Bidder that submitted the lowest evaluated Bid does not accepted the correction of errors, its Bid shall be disqualified and its Bid Security shall be forfeited or its Bid Securing Deceleration shall be executed.

2. Procuring Entity's Right to vary Quantities.

- (i) At the time of award of contract, the quantity of goods, works or services originally specified in the Bidding Document may be increased or decreased by a specified percentage, but such increase or decrease shall not exceed twenty percent, of the quantity specified in the Bidding Document. It shall be without any change in the unit price or other terms & conditions of the Bid and the conditions of contract.
- (ii) If the Procuring Entity does not procure any subject matter of procurement or procures less than the quantity specified in the Bidding Document due to change in circumstances, the Bidder shall not be entitled for any claim or compensation except otherwise provided in the conditions of contract.
- (iii) In case of Procurement of Goods or services, additional quantity may be procured by placing a repeat order on the rates and conditions of the original order. However, the additional quantity shall not be more than 25% of the value of Goods of the original contract and shall be within one month from the date of expiry of last supply. If the Service Provider fail to do so, the Procurement Entity shall be free to arrange for the balance supply by limited Bidding or otherwise and the extra cost incurred shall be recovered from the Service Provider.

3. Dividing quantities among one than more Bidder at the time of award (In case of procurement of Goods)

As a general rule all the quantities of the subject matter of procurement shall be procured for the Bidder, whose Bid is accepted. However, when it is considered that the quantity of the subject matter of procurement to be procured is very large and it may not be in the capacity of the Bidder, whose Bid is accepted, to deliver the entire quantity or when it is considered that the subject matter of procurement to be procured is of critical and visit nature, the quantity may be divided between the Bidder, whose Bid is accepted and the second lowest Bidder or even more Bidders in that order, in a fair, transparent and equitable manner at the rates of the Bidder, whose Bid is accepted.

Signature of the Bidder with seal